Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

A Paper : II

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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e Jfc Non-Standard OMR Sheet STEEAT ST, fSA@@EET MEaET-Maf HIR TR (Roll
No.) & feremmsf &1 Srrmme Tam fort 9 |

o formEETERT ARfCHTET BH™ TATA™ /IR faarsame e gars e 9, fifaame Seer
T 3TSITe @UTETE il R w2 W g feerg 3T OMR e faersat
TREATET ST S TuTa | SRaT AR JenferT /eI feersare Ay wsf amaw 3 gars
WA 3T6AT TSATHHT STTASTTE €1 HATd BT @A o= 1E TN |

o fsarrEmn Maf MaE Y@M THT ST rough FERE GiF™ foaTgaas @l g |
feMRERT rough EETE! TR foeTsaTd TS g4 TEWH WHTS SERFl §FF 8T | fhw
feeTsama 3¢ 9 rough FERE @I 376eT R foeie@ UM WA SR AT |

o TTHE FHEMA U™ feArEEE THe” OMR A= faems A wrme | mRf Seen 19
o St st forr ferette @ s = |

o T faags armE TH OMR TR faag gmm sme | femmeamn &8 &1 OMR
ATRATE AT - : T foers Tmr om0 d@m foaemst ', waf +'s smfe safeet
YT =T TaT TEH Seu=sit @l T |

® HIEH THT 2 U=l IR AN feetgard W9 135 HifY YA 3T WFhHE! FiFEE-l e
TRty o™ 1 T > |

o I fFrafy aram™ Set gFE’ R 19 |

o frrEmT OMR AT feremgama @fer et ST T SerasTia TEs QT 31Tq WTem-T
AT |

o 3TaTe & it giaenfy amam M anieamn wisife @ foems stermi SiFmeR e
Taie SITTH, SR e, s7ar, 9, &< AR 3UiS | o ST Jres fosll T BiEeEE s -
I TS TS TSI ST SUSETe BITETRENT H7s BT §HHT T T |
Important Instruction :

o foAmrrarn e wHrEn wiwife g e % 'sEt OMR e faemsf for sermeme o
a2t A | el afed femrmmn aam wmm faemef %' <A @t e et o
SR G et e ‘A o anme o for sieeE e At e |

® 3THNT WG ARTAE fam femreamen Amfemfs smamma OMR fmam gt evna
i feetgEian ST gl ARTH | TSTee1 STHWIE FREt Taned fEems THemmE S |

[E][E
SLRC-2022/P-I/A 4 E’%




frdw

U 01:55 T | Y& Y9 Yierent 7 @ |

OMR STR-U= & 3IUFe I | Jg I fga o € gg a4t T3 AaHiges U |

o vilieT Tord T foeft wiemeff i wdian wam o wiat yET 1o wier e Bidt S i 1A
Tl < St |

o fe I ghiemeff Torq qlent 3TUTT B A1 W IfectRad FEHt 1 oot T 7, 91 39 3™
U T SR |

® Non-Standard OMR 3W-93 % 391 7q eqefl 379a1 Tet =, I gfedent # fou M0 v w
wog 9 4 ford |

o Thianefi @i frfterss g feu o ufefa /A 3fic W & IR SR T TR, Ugeh 9 3 o &
¢ 3R g IR T gf&qeht 3T OMR IT-94 f{iees i Hiad o &g | 3R foreft aliemelf 4
Iufefa /U 3ffe W e gedter T foham, a 3| wdeneff s rufeer awen s |

o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T W weh | wdeefi W
(rough) T IT-9 A7 31 Ferell T8 & HITe W & L Feh | I qhiemel ST-u9 W s W
(rough) T AT 2, A T IT-T T JoTeh a1 a1 ST |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH € & S | Tt §H W1 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® T If&ieht < T1Y T OMR IW-97 fean smom | wieneff 39 ffde OMR IW-93 # ¥
GfEent 1., T GFETehT T I 3T HTHT 1 IS AT Torawor FraeTi & shaet el 31 et sicl-
Ui5e U | W |

® Ui ST FHA 2 FUS BTN 3 ¥ GfETehl § 135 T &1 3TR Tedish I o foTw 1 376 i |

® TTeTd 3R o foT0 g ThRTeHeR 37eha 721 g |

o TR 1 38 T8 T 3R OMR IT-T3 W hael Tl AT AT STA-Tig< 9 § |t FIAC
AT B

o wlieneff 379t glaen o fo7u e T T 7o gfecent w1 Teieh Sve S5 - wTfveh 8T, S — ST,
s, srel, fawdt 37t 3t | 30 ey o wren o weentor 8 foneft wehr 61 fe o wmem 9 srgfaen
B W 37T 7T i & HE W S |

Important Instruction :

o ulignedi wig gHivaa o & foh 39k g1 W9 YRaent &1 g OMR SW-U3 § &@ &1 ¥
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SIPIGT TS 77 S 1 SPTIS ITIR G5 (Ple] Sl ?

(A) f=iwm (B) Sreetiel q90alZ2
(C) 7IkTa STIbIE! (D) TSP 3!
ST (AT SN (I oW AT A 27 S FCATRCE 2
A fa e (B) sresi=l iR
(C) Tio1P SGIHR (D) TSICaPs 7=

| ?

) femem (B) wieef SiETs
(C) Teurert wgremd (D) R &
TisHeRTeN 3eifieh H Ygeh SHid-dTel 3780 & T8l WAl i & ?
A) femem (B) <rEAT ST
(C) <Rt wgT=ITSi (D) e Sl

Who 1s the first athlete from Assam to win a medal in the Summer
Olympics ?

(A) Hima Das (B) Lovlina Bargohain

(C) Dipankar Bhattacharjee (D) Bhogeswar Baruah

3l AerepleTS YT fersfiel 1 (2w |

(A) =Fe FubiRe (B) =eftrs Frabisg

(C) Foftre qTema Picz (D) Fsfie ove PRz

7Y oIS 2T2e iR AT FAHIHICE 2

D) =S w7 Pieg (B) =f® o= ez

(C) = Aitersw Pz (D) TS ewe Picz

TR R TS @ H1d A SeHE 7

(A) Tics &g fig (B) wries fira fag

(C) ics T g (D) eries e fi

TTER AT o6 STTEHehTel | B3 o7 |

A i wg (B) wics R g

(C) wies ToweR fog (D) wrie3 woa g
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The Rang Ghar was constructed during the reign of
(A) Swargadeo Rudra Singha (B) Swargadeo Shiva Singha
(C) Swargadeo Rajeshwar Singha (D) Swargadeo Pramatta Singha

TR e Rt (i 512 S[fEs ?

(A) TRrteE (B) Tze
(©) w2l (D) THES
I AfeT Reefmier (Pl oRiEsS 2

(A) R (B) Tzre
(C) wWiHzB (D) =TRReE
ST 375l oA aTe 13T S&1 S ?

(A) fosErm (B) fesme

(C) EwE (D) TEHR
31&m wfge fergaferarer el fRa @ 2

@A) freEmR (B) fesrre

(C) @R (D) TEWR
Where is Assam Women’s University located ?

(A) Sibsagar (B) Dibrugarh
(C) Jorhat (D) Lakhimpur

=T 52T SPTR PICS (T4 ST TR FIICZ 2

(A) TR (B) SFIHe ST
(C) wlsE (D) eI
JRF I AT BRI A0 IS 0 FCAR ?
(A) e (B) SRFIHE &0
(©) o (D) ¥
SIS TG 9 TSI SR ?
(A) THE (B) 3T e
(C) o (D) TS STt
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4. I R T T 3T @ SEaT 8 ?

BT T
qfem sme

Arunachal Pradesh

(A) HeTeR (B)
(C) wforg D)
4. Which state does Srirampur connect with Assam ?
(A) Meghalaya B)
(C) Manipur D)

West Bengal

5. TS (@I 528 M9 I9 1 SR ?

A D (B)

(C) Jferrol D)
5. 0 SRS (FIF *=0d Y I SR ?

Q) I (B)

(C) rTrsl D)
5. TERIE BT & ARG el 6L § 7

(A) B (B)

(C) hicThraTl D)
5. Tr=fefad o @ fore et H U wdl IqUTe @ 7

(A) B (B)

(C) whieThral D)
5.  Which of the following city has a sea port ?

(A) Cochin (B)

(C) Kolkata D)

g el
Suic|

e st
TSPl

e feeett
qaTe

¢ feeeht
Tl

New Delhi
Bhopal

6. I W W (2= :

(A) &M (B)

(C) TeTd D)
6. ST yal 2eT :

(A) T B)

(C) o D)
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(A) F3H B) W
(C) @R (D) &
I 61 g1 8 —

(A) F3H B) W
(C) sfer (D) &«
The currency of Japan is

(A) Yuan (B) Yen
(C) Dollar (D) Ruble
ASql TR RS GG SiE T ?

(A) 3R @EFRIF feire wefiEs 9 79907 |
(B) 3 etz I =Nieeq GOl “q %% |

(C) 3 T2z oz T5a8! @ 27 |

(D) 3T TRENe fEefes «F el SreREey|
o Siie @ Sfef sifaeat s ey ?
Q) 9 FFCRIT (&R GHb *12 |

B) @b IR FER @7 GG SR |

(©) b fozPares 638! @i 27 |

(D) «fb TRefie (TR «FH IR TSR |
TTETETE BT S ST Qe Jiarg = ?
(A) T SIBUER et 7 TR

(B) T sl AT T BTSIET @ X

(C) fern fespre @ty Aia faen

(D) Tern wditrer frenty frfrmand st £S5 forranfer (Wildlife Sanctuary)
fafafgqd a s aafsau s M A g g ?
(A) I8 HIHUFR el H T I 2 |

(B) g el SATTEANT H Tsh Yaid @R B |

(C) iR suaTHAaR |

(D) g TriTie fe 1 weh a=siia SR B |
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Which of the following is true about Pobitora ?

(A) It is a town in Kokrajhar district.

(B) It is a mountain peak in Karbi Anglong.

(C) Itis alake near Dibrugarh.

(D) It is a wildlife sanctuary in Morigaon district.

ferfertis weromza (iee SRR TR ?

A) YN R T (B) *IZA(G 7o

(C) T/FRRE CT9 (D) FERCSIAT CTg
o Sive @ el @3=IGe foebas! 2

(A) PR G T (B) *RiZWb ¢Tg

(C) TRRET TG (D) JFEECSHA CTg
TETATE BT S SeTi3 T e Wit ?

(A) i EiE A (B) W g

(C) AR &g (D) HifcrTHHIT 8
fafafead a s Mg e F e 8 ?

(A) U BT B (B) YIgHE et

(C) ARRY &g (D) hIfTETHIART §g
Which of the following bridges is near Guwahati ?

(A) Bhupen Hazarika Setu (B) Saraighat Bridge
(C) Naranarayan Setu (D) Koliabhomora Setu

frmfarre SR R 7o T2 fooas @l Sibizsis 7f ?

Q) 7z REeR (B) Wi RN
(C) /5are fRIFGR (D) Sarma! RIEGE
forcw Srafrerm W @ eibires arpwe REsiEs 7w ?

(A) TPifeE REGE (B) wIR2s f{@6E
(C) +T5are RITIbR (D) Slarmal RIEGR
TErETE B 5 i walmmaTtasn safggst memte ¢

(A) HIfER RrRr (B) 3maTE RRER
(C) T RRIeR (D) wreHt foReR
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9. Trmferfiga # s | HisTse et (Yo WHg Hol g E 7
(&) e frez (B) e et
(C) et et (D) W foraet
9. Which one amongst the following mobile theatre (Bhryamyaman) groups is
the oldest ?
(A) Kohinoor Theatre (B) Awahon Theatre
(C) Natraj Theatre (D) Bhagyadevi Theatre
10, “S7 TR TR O TS5 (It AN ST ?
(A) T P SoREE (B) @I (E<ed]
(C) feepim arel (D) ~Hfs epim 7
10. T3 “I (G SCAIS @7 @ 3 o] IR ?
(A) TN SleR el (B) TR (@<l
(C) Reeriv rel (D) S epm I
10. 37 "R 3R <o (3 gIFmi s a2
(A) HHAT JETE ATETAT (B) ALHHIY STe®3T
(C) oy e T (D) Tt T S
10, FoRE <31 TR ST 3 6 o A off ?
(A) HHAT JETE RETAT (B) ALY SSTarea
(C) ooy sy T (D) Te ST SRl
10. Who composed the tune “O’ Mor Apunar Desh” ?
(A) Kamala Prasad Agarwalla (B) Laxminath Bezbaruah
(C) Bishnu Prasad Rabha (D) Parvati Prasad Baruah
11, PR SR &2 Wb “SAME T o124 41 &S C2feet ?
(A) weEb (B) P=eTem
(C) <r=asoml D) @RI
11, SPINHISRIE &2 Gl SRR il AT 2P 26fee ?
A) @WRRD (B) frmaE
(C) TR (D) PTG

[E] 508
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11. “IeEiE” g afy st vaf ket seifer fegrm seme 2

(A) SR (B) IR
(C) dreTehfea (D) ISR
11. “3TEUTIGrs” ggeht Sraftrm v <6t ufest JehTfird g —
(A) Ve (B) Teamrd
(C) TEtfea @ (D) HIHTAR
11. “Orunudoi”, the first Assamese language magazine was published from
(A) dJorhat (B) Sibsagar
(C) Naharkatiya (D) Kokrajhar

12. MO I5! 12T AT STAIR FTIF NPT (202

(A) T O CIrFE (B) T 90 2%
(C) SEEAIL *ZFH (D) ™ T STORS
12, S PRI 14T R @A FRIE CTRiRe
(A) S TR RIS (B) W@ 7S &b
(C) SEI *ZHAN (D) FE™ AR GO
12. FHAS S A AfY st foernfifen e
(A) AT TEEH TiEaTt (B) I T TSI
(C) e Afepan (D) fots FwR wgr=m
12. MG TR JTH i aTel JH STER @ 9 —
(&) mft Thorem Tt (B) ¥ oTt gt
(C) o AT wIghra (D) S5 AT g
12. The first Assamese writer to receive the Jnanpeeth Award was
(A) Mamoni Roisom Goswami (B) Yese Dorje Thongsi
(C) Bhabendra Nath Saikia (D) Birendra Kumar Bhattacharya

13. 1942 574 SIS Sjiol SIS IG5 el Faiperel T Y30 Fiphods BoR2 2w 1

DRI 2R :

(A) ﬂ?{?ﬁ (B) W‘?ﬁ

(©) T D) <izwsk
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13. 1942 99 OIS RQTT! W AR (I BT J0H P FaIpeTo] G TFW I
o1 T 29y TR ?
A =F (B) To&q
(C) ToRmrger D) SizeSy
13. 3 1942 ARANN “WRA AR AHEHIARTE e gfaast sashaal 3TRI Jehre hibld i@t
SR MEYREH ?
(A) TR (B) g
(C) efaryeft (D) FEaTd
13. 1942 % WRA B! 3nareH # fafest gfer 7 Fshoran 3R qephe hiehd i el TR Tl
Torg T W oft 7
(&) TER (B) T
(O) hrETdf (D) AT
13. In 1942 Quit India Movement, the British Police shot dead Kanaklata and
Mukunda Kakati at
(A) Gohpur (B) Tezpur
(C) Dhekiajuli (D) Ahotguri
14. “SPARISRICAfe _ STep «ife] 312 77 IR W =7 =
(A) 7 (B) Il
(C) 19 (D) =
14. “SPRRISRAITANS o, *FEML @ * Waweitd «Jf T3 G 29 :
A) e (B) <=
(C) =3el D) RS
14, TEHTE BHTE 96 QG| 2SI STY1 @iare STHIHE] 9IS 3G S91H1 3779 ST 7
(A) =t (B) =gt
(C) =d (D) foreae
14. 98 &g A1 “IrET 9 34fd T | TE @ E W |
(A)  Ffer (B) =gt
(C) A (D) forsar
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14. The word that would correctly fill the gap in “Oxomiya Bhaxa Unnati

Xobha” is
(A) Xadhini (B) Bohumukhi
(C) Koron (D) Bistaron

15. IR IR SPINR SRINS 2 Heple IR 2= @i ¥ Slemizfes 2

(A) TS (B) ST FWel

(C) 1% Fwfet (D) A *RFICR
15. JFAIRE AR ST SR A TR @& Prcfece ?

(A) AN AT (B) TS Tl

(C) iR vl (D) AN *RFATR
15. TG TaTd dieHifsh TRV SREATSTE TeehUs TV featiiat | ?

(A) TH et (B) 3= sheetl

(C) werd sheef! (D) i TrhtE
15. S | aretifes THRV 1 3TaTg “AFehis Torw” foha fora o ?

(A) TH G (B) 31d el

(C) TYs Sheeft (D) sfiva rehtea

15. Who wrote Saptakanda Ramayana, a translation of Valmiki Ramayana in
Assamese ?

(A) Ram Saraswati (B) Ananta Kandali
(C) Madhav Kandali (D) Srimanta Sankardeva

16. P Fifen< FBRAA =i Sfew Sl 37 s ?

(A) TOEF (B) &g

(C) <«ar=b (D) ToIIETEl
16. SIMIGR AMSTE BREA o Sfen Sy (LR sk ?

Q) ToER (B) ifEare

(C) @l (D) IR
16. 3TEH B JARHI TR SITehet MG §&T ?

(A) WL (B) shraficm

(C) TaTETE (D) TEITeAam

[LIpIL]]
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16. 315 U Fafeamer vg aaeafa Seam el fma 2 7
(A) TR (B) shrsiram
(C) TEmRId (D) AU
16. Where is the Assam State Zoo cum Botanical Garden located ?
(A) Tezpur (B) Kaziranga
(C) Guwahati (D) Goalpara
17. SRR G -vae FERIRS @0 ST8ee 723 ?
@) 7 (B) =
(©) il (D) !
17. T90 SaEierE 90y (IR ereisifeg Sikenie “iheal i = 2
(A)  HC (TG ) (B) T (@)
(C) TS0 (Frein) (D) I (G
17. eEE s« et 53 fféamma (life cycle) #m ?
(A) Ty (B) fare
(C) e (D) THSIT
17. fr=foafaa o @ o fadeft & ta-ssw A 78 8 2
(A) Hefer (B) 3®
(C) = (D) Zeuret
17. Which of the following is not in the life-cycle of a butterfly ?
(A) Caterpillar (B) Eggs
(C) Pupa (D) Tadpole
18. JER @ETHR ARIITS % CTRIT @B RoiTe TP @6 il o1fe 41 22w
SR @ETHRE (20 :
A feTs T8N B) =Y
(C) =TI B eI < (D) . FGIFl
18. TSR Boftbq *FHR SR (@I SO Getoq 2w @ Fifza fbq 7=E Jage

TR ?
A) ToETs I (B) ==y
(C) TSI AN 1S 4o IR (D) T. @&

[E] 508
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18. gl "@Ygd s=1 (National Film Awards) A= fifafe srafien a@yEst e
(A) oo TR (B) 3w
(C) BTARMET T3y FEaU™ @ (D) ©f SSeedT
18. ¥ fhed TR | To2iB hI=R fhed & HoT(d g aTel! ggelt sTaf fthem off —
INIRENER T
B) T
(C) Frerefa S SNy ™ @
(D) i SSE%aT
18. The first Assamese film to be awarded the Best Feature Film at the National
Film Awards was
(A) Village Rockstars
(B) Aranya
(C) Halodhiya Choraye Baodhan Khai
(D) Dr. Bezbarua
19. THIFeIR B2 SICaEel &if R SfEs FoR<w 2R :
@) feere (B) w@==lb
(C) for=melg (D) fsere wif<rifer
19. TBIKFSTIR B SICEEEI (0 (I IR ?
@) =g (B) @Rzl
(C) ferpTelg (D) T2 bifsetfer
19. rehelTs |Tel fSRRERT HHem 981 ?
A) fespre (B) @R
(C) TosmmR (D) Tergaamer =ieamfa
19. el I AU T fore et H 8 2
A feme (B) SrEmr
(C) TreEmr (D) Tergamny =feanfar
19. The Toklai Tea Research Institute is in which city ?
(A) Dibrugarh (B) Jorhat
(C) Sibsagar (D) Bishwanath Chariali

W]
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20. SPTIR GG CTIE FoT 24! DB (22 :

(A) e (B) IwizsMe

(C) fefmem (D) TSI
20. SMIIG GPINE CTielP Fol SR :

(A) Frema (B) <zsite

(C) fewrfea (D) TG
20. SAE o ek BT S|t ?

(A) frerr (B) weTdmE

(©) forrgfopan (D) TETeTd
20. 3THH 1 Sl Hieh Thel 36 I H 8 —

) foem (B) drmsia

(C) fomgferan (D) TR
20. The only Sainik School of Assam is at

(A) Silchar (B) Bongaigaon

(C) Tinsukia (D) Goalpara

21. AT IS @i e s[fEs 2

(A) TG (B) @20
(C) JIwizer (D) e

21, TAEISG ISR (I (Sl SRS 2
(A) Tl (B) @b
(C) I wrizer (D) =4is

21. uTeiTe feprgariesn 9 Semma g ¢
(A) e (B) e
(C) &l ITATEANT (D) g

21. THTeTE frpead forg et o feora @ 7
(A) TIeTETRE (B) SitEre
(C) el AT (D) Fita

21. In which district is the Numaligarh Refinery located ?
(A) Golaghat (B) Jorhat
(C) Karbi Anglong (D) Nagaon
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22, CINSIST (PG F S SiF J2ieq Trers Sz 7 ?
(A) e (B) W=
(C) =fer D)
22, CIRSHITSR GF (Gl &2fb 5291 @3 Jeeifie Ty =i ?
(A) e (B) W=
(€) = (D) 34
22. GFERIM §e 78371 g0 3T Jeedfd Tai Towe ?
(A) T TE (B) HHUT
(C) wHTZ (D) g9T-
22. YIHESH 1 A 91 78 et 37 geeafa o = fea g 7
(A) e ®) T
(C) vl D) 9=
22. Which planet of the solar system lies between Earth and Jupiter ?
(A) Mars (B) Venus
(C) Saturn (D) Mercury
23. T SIS ST SIS QISR TSI ivffepe] et ?
(A) TR FEIIT oA B) el cos
(C) Fcaifet 712y (D) IAE= OIFF
23. SFCST QISR “TOIPI AP (F PR ?
(A) THIZWT FII5M IR (B) fomfer comiza
(C) RIfG F1Eg (D) =TI SR
23, ARAH BT Rl 9] 98t SFRHE ?
(A) WIEIGH FUEE M (B) fiireht derzn
(ORENUESIEIEE (D) Tl I
23. 9Rd % UPH &l =l fohe festme fepan 7
(A) HIEHEH HiHeE el (B)  foiredt sishean
(C) = Trrg. (D) Tefigmer &R
23. Who designed the National Flag of India ?
(A) Mohandas Karamchand Gandhi (B) Pingali Venkayya
(C) Sarojini Naidu (D) Rabindranath Tagore
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24, T ST SIS (@R il [z qiars ot A 2

A) fenifie o (B) feoifiq &

(C) TeBifm (D) TSHIRE TS
24, TR GR SERRICS @ FSOIe [T 67 ?

(A) TR C (B) SO K

(C) fShife B (D) feoiffm D
24, Y IR SHCTSIE sl TIeTfi=T o ?

A) faefm C (B) faerfim K

(C) T B (D) faefm D
24, g 3R Afaen # HH @1 fFerf@ e ST RIS e 7

(A) et C (B) faefim K

(C) fefim B (D) faerfim D
24. Which vitamin is prominently present in lemon and Amla ?

(A) Vitamin C (B) Vitamin K

(C) Vitamin B (D) Vitamin D
25. SR RIEIT LTI T TRFHEET i =i ?

) fea9 B) e @@

(C) 5=l vheal (D) T SICHI
25. (I SIS TGS T2eT! 22 TR AT 2

(A ey (B) fF=e @At

(C) gl Bheal (D) T AT
25. 3TEMRTE U TRA frfafem smsstisn e 7

(A) oo =it (B) feror vt

(C) HedAT TTaet (D) hedAT HaAT
25. 3TANET H ST STl ToH MR 9t 6 ufeet S off ?

(A) oo i (B) fomtoraict

(C) ST ATEel (D) e TFAT
25. Who was the first Indian born woman to go to space ?

(A) Kiran Shaw (B) Kiran Bedi

(C) Kalpana Chawla (D) Kalpana Saxena
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26. 2022 59 @ I (7l ARSTAIST 739 5201 =4S (I Trpeiie Fi<fe ?
(A) TEF @A (B) B 7 Bibeir
(C) ToRF&F e (D) I AT
26. 2022 MCTR FAIDT ST TR 49 [0 (F TS P ?
(A) O SR
(B) TEFICE BB
(C) ISR THIfeH
(D) <I=PICHeT TmleT
26. W AU 2022 3719 BEATBRI FRIG R SERIRFTITE TR TETErd ST ?
(A) TR HST (B) WM fdfium
(C) rareh Sepiferar (D) Thet TS
26. fohdH Tha 31U 2022 § T8 Tshel ST 7
(A) TSR BT (B) WwHM feafcdmE
(C) rarmeh Srehifersl (D) el T
26. Who won the Men’s Singles at French Open 2022 ?
(A) Roger Federer (B) Stefanos Tsitsipas
(C) Novak Djokovic (D) Rafael Nadal
27, ARG IS AN K 2
(A) IR (B) bt
(C) ToAgA (D) TITF
27, AMTALST G H 2
A) TR B) =ifo
(C) I D) TIHTF
27. IREEH TIAEH3T §7T ?
(A) TR (B) T
(C) &gy (D) T
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27. FRGE H TIUH RTE ?

(A) TR (B) T

©) e D) e
27. What is the capital of Jharkhand ?

(A) Raipur (B) Ranchi

(C) Dehradun (D) Gangtok
28. OIS FII YT CTCS TS HIR (2= :

(A) Il (B) THleTS

(C) =R (D) FrT=ife
28. SRS (@ IR M0 ETI el & :

(A) BT (B) I

(C) SR (D) Frem=ifes
28. TERITE BT WRAH S8 SIRATET §H1-@isi dlean g 7

(A) ST (B) e

(C) 3IFPhAm (D) wHTATETE
28. YRd | A 6 TH & ST M & —

(A) SIS (B) #IER

(C) 3feheiza (D) HrelErEt
28. The place associated with gold mine in India is

(A) Jaduguda (B) Kolar

(C) Ankleshwar (D) Kalahandi
29. TP JIZS SIS T AT AW ifReq 9w Ffifeet ?

(A) QTR (B) 9@

(C) ARG (D) TSI
29. T3 BT SIS =N 2R SoRRICEIT “I71=hel FCARE ?

(A) IECTR B) &TF

(C) A=FCHIG! (D) TN
29. YRAAT §¢ TR ffefas uamias (Nuclear) 341’T§f§[ TSI ATGHN ?

(A) STEER (B) g

(C) ielibrar (D) e

[E] 508
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29, YT 3 3794 Ug YTHTY] IUH0T 1 Tiequr fopay T o fopamm o 7

(A) STAER (B) g

(C) #eftniar (D) T
29. In which place did India test its first nuclear device ?

(A) Balasore (B) Trombay

(C) Sriharikota (D) Pokhran

30. < (0 559 13- T2CH6T Werq 7T el 2

(A) 20 9M& (B) 329&
(C) 229 (D) 25 9=
30. (G fCRE 105 72 MCa SRS TTE] ZICe 779 T 2
(A) 20 9M& (B) 329%
(C) 229 (D) 25 9%
30. T fohehe fueqaTa i feehe ToRTe T3 aT SEET ?
(A) 20 31EH (B) 32amE™
(©) 227mEH (D) 25Té
30. Frhefmdfohrei i hAahigh®IE ?
(A) 20T B) 32T
(C) 227 D) 25T
30. What is the distance between the two sets of wickets on a cricket pitch ?
(A) 20 yards (B) 32 yards
(C) 22 yards (D) 25 yards

31. 2022 59 1 QIS S SRR SN @18 T8I e ?

@) et ®) =)

(© wArsar (D) @ e
31, 2022 7R 1 SREIACS N TENE 15 @ g 2

(&) T T B) T ST

(©) TORTE B S
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31. 1st January, 2022 B @, JAIELE TeH 3 THNERIH ERIARST AR ?

INIRESACNE (B) s &1
(C) THee g™ (D) il sTged
31. 1S9, 2022 ! TIH TY 3TN & TPAfd HH & 7
A fua fades (B) s{Ieh A&
(C) sHIeS g (D) S eTE
31. As on 1st of January, 2022, who is the President of the United States of
America ?
(A) Bill Clinton (B) Barack Obama
(C) Donald Trump (D) Joe Biden

32. &3 9ifTow “{2TaaR F21 @ TS ?
(A) =S S RS e 7T e
(B) #Ii27 W= el
(C) P g 412 72 T T
(D) Iea FIfer fordi=et
32. &% aferow PRI @ T «R[be
(A) =R 93 3 T =Y
(B) N2 GF A
(C) =l >aeplel fagrem g ey s91%
(D) (G I AT
32. i ARG TEATTREST MR 8 Sai+ arar e 2
(A)  FEH IR IEH TR THA
B) =
(C) T ImETfRam s SRR TS O™ g
(D) SEAN A
32. Mo iEIuEyTE_ HfuSHramre |
(&) g s gd & e gl

(B) I3 HH
(C) T THHIV B h1 Y13 & o= qag
(D) T I HI &THA
SLRC-2022/P-II/A 23 %ﬁ P.T.O.



32. Greek Mathematician Pythagoras is known for
(A) Distance between Earth and Sun
(B) Value of P1
(C) Relationship between the sides of a Right angled triangle
(D) Area of a circle
33. TTfeTe Soo 1= (FRCH! BeTitbq STia CTCe Sive 2
(&) TTOICATEH'R (B) WERATE
(C) TTES wiEres] (D) I cFfErea
33. forca Teapfire (i TG Betfivg fite (e 26iE) 10 Tesifes 2
(A) RIERoCRIRR
(B) P
(C) Tuhe S|
(D) FI9 TR
33. TERI o« BRETE HEYH eiHAsi oies ¢ 7
(A) FHIHEHE (B) 3MlasRHE
(C) T Bitead (D) T Bieas
33. f=fetfiad W @ & &1 @IER fthen I 4 Hafaa @ ¢
(A) FeheIcTHIS (B) SEhE
(C) ISR Hiead (D) < HETHa
33. Which of the following festivals is related to the film industry ?
(A) Rouketopolemos (B) Octoberfest
(C) Woodstock festival (D) Cannes festival
34. SN 7S FAfTRS (@i oo 20 sIZ6R @iy =7 ?
(A) TR (B) R
(©) vTem (D) =23
34. SINICTS AT (T ROBIRTAT STSIe Ty sferste (iolf 2 e ?
(A) RN (B) @IEIE
(C) wifeas (D) I
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34. SIT°UT SETEHTE HTH @ 81 SIS MeAl<t SR ?
(A) hfcaTm (B) EH
(C) wifeam (D) A
34. oo gAR oieH # Frafofed 3 & fradh it % SR Bar ? ¢
(A)  hfcwrm (B) EER
(C) wifeam (D) @irer
34. Goitre is caused due to the lack of which of the following in our food ?
(A) Calcium (B) Iodine
(C) Sodium (D) Iron
35. 7O YEHBIN Proq w1 6 wiifeer 2
(A) AR PR (B) =R TEHFR
(C) T&Tom PN (D) W(&PIm T
35. =Tl YRR 1ol (< et 2
(A) IR T (B) TR A
(C) T&Tom IR (D) wfepIv
35. A1 WIS e aRd ?
(A)  CRIHTY HHT (B) TETTY WL
(C) TS Hirereht (D) wfor SETE HisreRt
35. AT WYL o fUdT i & 7
(A)  EETY HITHT (B) =Y HIRHT
(C) Sfidg wiReRt (D) woft JHTE HT
35. Who was the father of Lata Mangeshkar ?
(A) Dinanath Mangeshkar (B) Hridoynath Mangeshkar
(C) Jitendra Mangeshkar (D) Mani Prasad Mangeshkar

=
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36. M| 5! S FAT LI P SN A RS @RPIRE

(A) THES! *EZHR (B) wferaren it

(C) Iy <O =1 (D) forfa eret qamtst
36. &= PRI Tf2ET FR G2 @1 R *&] 7RI CTRRET

(A) Smere! B (B) Sferame ¢t

(C) SISy 2= CaFRISt (D) forfer el T@mee
36. Tt areen wee fifafaa smafien smssreremsii sm forfifsn a2

(A) =g Afeaty (B) fert st <ot

(C) A TSEm et (D) Tordet g e
36. Ut QEEhR Siia- et Tgelt ST uiget hid 37 wifigen off —

(A)  <guwr dferardt (B) e srer et

(C) wTHf} gy T (D) Tiet 9w SREets

36. The first Assamese woman - a poet and author — to win Padma Shree award
was

(A) Chandraprabha Saikiani (B) Nalini Bala Devi
(C) Mamoni Roisom Goswami (D) Nirmal Prabha Bardoloi

37. ©ITSq (I IS <1 B ST SIS (&fe 2

A) Teqy B) e e
(C) =< (D) fofiew
37. SICS (I A0S fooItpl SCwiereT s 2fest ?
A) Teqy (B) e e
(C) =i D) B
37. ‘Tdeh! SHTEEATET YA e USSATE S SHHA ?
(&) soErs B) et v
(C) =@ (D) Fafesn
37. WIRA % fohd TS 4 &9 § To0ehl TG TRY g7 o ¢
(&) e (B) fere w2
(C) wfemm D) R
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317.

Which state of India did the Chipko Movement originate in?
(A) Uttarakhand (B) Himachal Pradesh
(C) Haryana (D) Sikkim

38.

38.

38.

38.

38.

TRTS NS AN 2031 TS YR (FIICH! 56 59 FICH! /ST 7= ?
(A) SIS qe ol 23 =it

(B) T 25 I2TF I 27 AR

(C) SIS @I GF AL (57 (Siowel 273 A9

(D) " AT AR AR Tl 27 iR

e Safema T @R Tmefh SRS 0 T 28R & #[9 FH00 2(F 1 ?
(A) SRSR FIRF 200 (A |

(B) T 25 INER T 20O AR 1 |

(C) SRTSA @ (I RGN G IFR (SR 20® 2 |

(D) W< A K] 51 20O T |

TRASTTE FHSH FGMT ST MR S STrgmg i Mty = 7

(A)  WRAT TR ST

(B) 25 SER o HIfgs g3 JHTST

(C) YRat Srrig S gafefs femms@un (Voter) SR

(D) 9@ 10 T 3=Te3Te SfUERA™ SR

W ¥ Teg e s o fore freferfiaa o & fope a1 g i Y srraaehd TE 8 7
(A) W T AT BT =1MRT |

(B) 25 a4 ¥ HH 37 I T8 SH1 A1 |

(C) T % foreht oft Frafem & o e 8 =z |

(D) &1 10 % & oh1 wieqn Ihvl et gt |

Which among the following criteria need not to be fulfilled to become a
Member of Parliament in India ?

(A) Must be a citizen of India.

(B) Must not be less than 25 years of age.

(C) Must be a voter in any constituency in India.

(D) Must pass class 10 level of examination.
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39. TF AR THIG ©ITeq (2 FikF @I forsfier wfifeet 2
(A) S| (B) w2
(©) T R (D) TR
39. (I EG SRS Al HiT (Sl o “fkibe) arsif i safece ?
A) T (B) @z
(©) FEIClwe AR (D) iR
39. WRA YeraT “Ueg ¢ U T TR HYTA3T B ?
(A) P (B) SmEmi
(C) FII-35-2H Usieh (D) IRwe Hd
39. Torm THTe 3 WA Y (SR €9 8 314) UTE o U o1 fmfor femam 2
(A)  FADT (B) wEri
(©) BIIH T (D) e gl
39. Which Emperor built the (popularly known) Grand Trunk Road of India ?
(A) Akbar (B) Jahangir
(C) Qutubuddin Aibak (D) Sher Shah Suri
40. SO R BT TePIOrS fTHfere TR (PG TGS T ?
(A) BlesE (B) =Cel
(C) TafeEt D) =i
40. 0 SERSTR T @0 SR MR SRS S 1R TSee 717 ?
A Mesif (B) «Cel
(C) T (D) I
40. yraTi fafsraf gt wifere e s e dEsERe ?
(A) TaTfe (B) ¥
(C) Hferedt (D) et
40. frefafed 8 @ #F @1 9ra & Gfag™ & STHER snedt SATE | e T | 7
(A) GTe (B) gl
(C) Hferedt (D) et

W]
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40. Which among the following is NOT included in the Eighth schedule, as per
the Constitution of India ?

(A) Santhali (B) Bodo
(C) Maithili (D) Karbi

41. TIRIH! IS il 16 (e “iiTg @ (AFSPA) 931 tafee ?

(A) 1958 (B) 1952
(C) 1960 (D) 1971
41. E T ROEIEFR o2 (AFSPA) F© G 7T 20aRe ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971
41. o AT ﬁWWWTﬁ@ AT (Armed Forces Special Powers Act) 31
THRISTET ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971
41. GIH g o=y v srfafem (v.us.wm v, ) forg o urita fomam o 7
(A) 1958 (B) 1952
(C) 1960 (D) 1971
41. In which year was the Armed Forces (Special Powers) Act (AFSPA) was
passed ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971

42, OISR MR RCH! SR T& - 57 S /ey T2 [e T @M 3 ?

(A) =T 14 (B) =T 377
(C) Sro=n 371 (D) =T 254
42. OISR MR (I 4TS e 54 ©IHres qreeseiss [ i @mi= T 2elee ?
(A) 14 T4l (B) 377 R 4El
(C) 371 <RI (D) 254 R ARl
42, TRATR SffTaH 99 SR A1-H=1 HRAM TS RAT =1 ARG = 2R ?
(A) <114 (B) T®I1377
(C) <TH1371 (D) TH 254

=
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42. WA GiTUTH S1 A1 3T7<e¢ JaRR WA o TSAT i [oRIY &9l J&H Sl & 7
(A) Irgese 14 (B) 31q=sg 377
(C) 3rg=se 371 (D) 31T=8E 254

42. Which Article of Indian Constitution grants special status to the states of
North East India ?

(A) Article 14 (B) Article 377
(C) Article 371 (D) Article 254

43. SRRTEAE (PR TR oI 1 B eoisiie @i oiFs o S ?

(A) I BTTE IS (B) T=are! Sl
(C) T PIeMS (D) SRS 75f
43. SRR (T TIPS orF B 9805 IR freafecer ?
(A) I (T P (B) 2ERSAT Tl
(C) AT MM (D) SREMA (Fal
43. SETEATA JgEa fewhall 3% sfean’ fosegt 57t fortm 2
(A) om fire SegETte (B) e AT
(C) 31t ST (D) e fehert
43. SaTETS 45€ 1 Tewnait 1T stean’ g wal fo off 2
(A) O HEA S A (S ERICHISK|
(C) oM (D) 3TEHEHR fehetl
43. Where did Jawahar Lal Nehru wrote the book ‘Discovery of India’ ?
(A) Pune Central Jail (B) Yerwada Jail
(C) Thane Jail (D) Ahmednagar Fort

44. Tferlre SRR (I B9 foTRd 1T T =R (el @1 ez ?

(A) ToEE (B) @<=l
(©) eI (D) P
44. 0 SERSTR T @9 20 R e (ol 1w (6. =12.659) T ?
@A) TER (B) =z
(C) =TRINo3 (D) fer

W]
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44. TEEMA 9 IRART 8 TRAEE AEA gEE fogi eomem ymEeit fefRmm
(Geographical Indication) 3 AFgl ?

(&) TR (B) @i
(C) wEmR (D) feret
44. fr=ferfea @ @ form wom 1 &<t & fow GI ey gam @ 2
(A) R (B) wiER
(C) wEmR (D) fereti
44. Which among the following places has received the GI tag for its Litchi ?
(A) Tezpur (B) Jorhat
(C) Lakhimpur (D) Shillong

45. IR @ S TiE SIerT fRrF! 2R TFR 14T I TS ?

(A) T TS (Terzielz (B) =6
(C) TG IISHCG (D) =6 @I
45. T30 SRS T4 (SIS REpRITEE AR Wi we Affoe ?
A) =6 TS TETAG (B) =16 eqifert
(C) TS ST (D) =76 e
45, TEEH AR gg @ HRATR HiAiems Sesw! wrEmeare faeif fagmm amem flkemn ¢
(A) T Folred oSt (B) @i dtarterd
(C) dTE HIRUeEH (D) &S Bhied
45. Tr=fafed 3 @ 1 IR e oreft § 3o gawi < g S S g ?
(A) T Folred Serarstl (B) eiiE SHaTieE
(C) <TE AREesA (D) TS Hhted
45. Who amongst the following is known for his reforms in Indian Education
System ?
(A) Lord Clive Dalhousie (B) Lord Cornwallis
(C) Lord Mountbatten (D) Lord Macaulay

[E] 508
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46. “SFEER TN SR SEANG LT 2L =17 (ie SHieT 2
(A) . JE G (B) T=o@ =4l
(C) 'feTels FIBR (D) SFWAIN (BT o]
46. SIS TGP SR GF 2= TS (F 2o ?
(A) . JE G (B) T2 v =Fl
(C) SfeTeR Fred (D) ST R T
46. rafEn oy st 7 fifafim gefif s e 2
(A) 3T AT (B) ©H == s
(C) 3Tt et (D) 3TH=xT 2feRaret B
46. 3T YEIHT ‘STRUNGIE o T HUTESH i I ?
(A) ST, T S (B) @HeIg e
(C) 3MfeTeR ST (D) AU <fhaTet Fhd
46. Who was the first Editor of the Assamese magazine Orunodoi ?
(A) Dr. Nathan Brown (B) Hem Chandra Baruah
(C) Olver Cutter (D) Anandaram Dhekial Phukan
47. PN IR SN e 0P GTaT RS RIS F9I9 Sibfded AN Sk
Ao |
(A) S (B) 1t
(C) MY (D) SFHS
47. SN AFFICER G &I A A1 G Ao Fel<pael 2<pgl i 10 AR ?
(A) S (B) 1t
(C) “=f (D) RFHS!
47. JEM GEHRH F-WHT 9 fafsgm aeuiRasma dea™ wEEaeE - gAF
e |
A) IAEAEE (B) sg=u
(C) TRy (D) A=
47, ITEH TR I -ToRd Hae Far3ti i A1 Sl G i Sga €9 H FHT 11§ —
(A) 3rEvIIEHE (B) g
(C) TRy (D) Teydt

W]
SLRC-2022/P-II/A 32 Eﬁ



47. The streamlining of Land Revenue related services scheme of the
Government of Assam is better known as .
(A) Arunudoi (B) Basundhara
(C) Sarothi (D) Arundhati
48. SN *RFIACI G2 | (Ol Gl 7B Aeh! 6 T Serenrs ?
(A)  wRFHETO (B) T
(C) ol (D) @™l
48. Y WP A1 Gl & G A el F A “ifioe ?
(A) =R G (B) Tl
(C) Sl (D) @™l
48. =T SehcasI HITE ST WA HelH fGfForma Jwaumse! 71 g fHfern ¢
A) 3fepan AR (B) I&TH
(C) dHr=m (D) y=E™
48. #fHq Thted GRT TR foRT T UHThT ATesh HTET TR 7
(A) IR (B) I
(C) THmEMm (D) Y=
48. What is the form of the One Act Play, made popular by Srimanta Sankardev
known as ?
(A) Ankiya Nat (B) Yakshagana
(C) Tamasha (D) Bhramyaman
49. RTINS TPTRT (@i 7 ARG SHES ?
(A) e @ (B) 91>
(C) =E14 (D) &R
49. 0y SR Taesfer Joy (@I ARG S[ES ?
(A) =T (B) I >Tq
©) wE~a (D) @R AG
49. GHTE STASTE U™ G G AT 7
(A) =TT I (B) wEiEd
(C) wrggraA (D) fhTs &=

o
=
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49. Tr=fafed 3 @ =9 o1 o ufem smer § fRa 2
(A) =T T (B) G EA
(C) g T (D) 15T
49. Which among the following Satras is situated in West Bengal ?
(A) Chamaria Satra (B) Baradi Satra
(C) Madhupur Satra (D) Jakai Satra
50. SPTH TS I 914 (5! oo 377 2
(A) 9 7= ARG (B) o 711 ===
(C) TG o[ wipefts] (D) WO o1 T@eT
50. ST IheId OR RT Gi i 2 ifee =1 2
A) o @ IR0 (B) ~IféT (A 4
(C) T@T (AT ATl (D) W AP TWH
50. STTETHTE S AL AR oo ferret Sgarst ?
(A)  FESTHSRTE TS (B) TSN S
(C) BT SIeATr (D) WIATHIHR ATRT
50. sEIgs e 3w o fopd fewn d w@di 8 2
(A) T Hdizm (B) wlm A g
(C) I A gfeam (D) &feqo & I
50. Which direction does the river Brahmaputra flow in Assam ?
(A) East to West (B) West to East
(C) North to South (D) South to North
51. SIROHS ISl MEIEd &fewrel (i i ?
A) TR ®) R
(C) IR (D) wFE
51. SIICS Y9« AT 2lfoviel  ?
(&) T (B) TR-ARAR
(C) T« (D) w9
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51. TS AFISIE! HRATE TSR 9r ?
A) Y (B) ¥ gl
(C) =R (D) 3Fhs
51. WA H Tl HTHTSY o JTa8Teh i & ?
A T (B) ¥ gl
(C) TR (D) 3TheR
51. Who was the founder of Mughal Empire in India ?
(A) Humayun (B) Sher Shah Suri
(C) Babur (D) Akbar
52. DETAEN, TEEI OF OFITE SHES FEPHRS (P! TSR A9l Ko TeAimey 41
Y7
(A) TG (B) freFm=fe
(C) wmf& (D) o e
52. IRV, AERI, SRI7F AFHBR @M T (A RV TAWe 3 2
Q) e B) e *ife
(C) e (D) o e
52. Herqaehd, TN TR AR IFAIRE (Project) 37 5/« G@THGR Hifsctara! @mfs grn ?
(A) ¢ Hifsers el (B) OIS el
(C) fagar (D) M Tl
52. HeTqaehH, T T AL THISHTE 9 & Hid 8 forsreft 1 Icame id 8 2
(A) S wifed (B) IRHTY Sl
(C) g It (D) RSl
52. Which source do the projects at Kalpakkam, Narora and Tarapore produce

electricity from ?
(A) Hydro power (B) Nuclear energy
(C) Thermal energy (D) Solar energy

=
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53. TPIGT ARIGS ST ey CRRSH Irefell 2p1ea @ifol iafeet 2
(A) =eftre (ML Pirg (B) =ftne FubiRR
(C) Fofmrs PPz (D) Fofme 773 Pz
53. WRRIGCS SRIN AT - AGI FRETC (F @D SRt ?
(&) Fofme AL Ficg (B) =FfC ww Fieg
(C) =ofmre iz (D) FMS *7wa P2
53. T 3T TTHICR & T -E! TRERIE TRIEFG! ?
A) wie ey fig (B) wries & fiig
(C) wemics firel fifg (D) Teics o g
53. Topa STETe o1 STEm |y 6t ity Tetet & &9 4 wfud e 7
(A) TTes T g (B) i3 &5 fg
(C) s fora T (D) wfes g e
53. Who established Jorhat as the last capital of Ahom Kingdom ?
(A) Swargadeo Gaurinath Singha (B) Swargadeo Rudra Singha
(C) Swargadeo Shiva Singha (D) Swargadeo Purandar Singha
54. THID ST PIRIPITS SRS T 2[4 TS TR T+ 5 <ifes 2
A) rz (B) fesfers
(C) RS (D) W&t
54. THIL ACEHH PRI SRS FAR 2[4 [T TR 79 1 e 2
A) & hrz (B) fefes
(C) uFRH (D) IHUR®
54. &9 TABICR TARIETHASTE T T TS AR g311 91 74 2
(A) i B) forafsa
(C) FFIEs (D) weeled
54. HIE TT 6l et WSS B Uge TSAT TR0 Bl -1 7719 AT ?
(A) i B) fowestta
(C) YRtead (D) weeted
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54. What was the name of the king Naranarayana before he ascended the throne
of Koch kingdom ?

(A) Nara Singha (B) Biswajit
(C) Shukladhwaj (D) Malladev

55. femferis ey Sfenss s1+iret Sfewa Swizast Faet sl Fa1 =12 ?

(A) et o2 (B) ¥ 52
(C) e o2 (D) e 1=
55. 0w S o=@ e @b ASHID! alited Snizgel 2o Rafbs =@ =1 2
(A) =T (B) S
(C) izw (D) o
55. TR o fawisn faarg-fafan e fafefy T ¢
(A) W (B) grssit
(C) ursA (D) gufea
55. Treferiiad o & s @1 Ug quiaTe et o Ierewer Tel e S | ?
(A) W (B) ™
(C) I (D) e

55. Which of the following trees is not considered as an example of deciduous
vegetation ?

(A) Sal (B) Mango
(C) Pine (D) Simalu

56. IYREICS (RS T*eeTo I (Ao 91 27 ?

A) TR (B) ~I1=< BT
(C) DI (D) e oY
56. STYRTS GBR (i S0 1 2 2
(A) weTgh (B) IT=ITTH BiF
(C) BIT%H (D) o BN
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56. W ATETCE! TUETER HT ST SIEATREE 7l ?
(A) cEenE (B) @&
(C) ewI U 3E (D) TuH ERA
56. 3 Tl ITHAR W fopw & § I e 8 7
&) I qH (B) TSt gemehi &
(C) =&t (D) THae el §
56. Which region is Jhum cultivation usually practised in ?
(A) Wetlands (B) Hill sides
(C) Char areas (D) Flat plains
57. Iz TTTE SIS TG SZT1 [FTa efeqm ARTE FRC SR 9 205l
feg yaiae tafee ?
(A) IR F (B) Jie=l iz
(C) WTeI-ReBl REN (D) TOBWTSR %2 Siferl
57. 0% #PTe SRS (@I SZEE 2feqm 0o Geol SifeTaieHiel Iam ARSI H e
ST 2 ?
(A) T F (B) Aleab =iz
(C) et B! A= (D) 7= o5 Terett
57. Tofesr yrats & A S@Td g1 BT HHTEWRT ATTTATaTetl SIS STHT ATheHH ?
(A) HTEHA HiEeH (B) e 3
(C) =il Wi (D) WA BETH HTATGT BINATS
57. fofes vy = fopm atfurfem & fotiy & Sforiaren am gcmenis &t i st g8 off 7
(A) GTEHA HHITH (B) Uete Ut
(C) el it gum (D) g Tateres feet
57. Which Act of British India had the Jallianwala Bagh Massacre crowd gather

to protest ?
(A) Simon Commission (B) Rowlatt Act
(C) Morley-Minto Reforms (D) Separate Electorate

W]
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58. TSl i3l i fofey «fa serrgatt et w33t =7, o1 192 4 (2= -
(A) o, Ped, T af (B) Ty, e, Bwery 4
(C) T, Terrard, famperf (D) e, e, (et
58. RIS @ fonlb «eafar 15 2T s vl =3 -
(A) o, Re, 27T ot (B) Ty, e, e of
(C) T, T, famerf (D) e, e, (et
58. NG S9 HIMYU™ YRW Mt 8H1 7
Q) fe, @, s (B) ditg arH, ferg, 30T
(C) g arm, 31 9rm, fag (D) f&g, fra, oig arXm
58. TSI <l 141 €T Shi GTH HIHT ST & —
A T v, T v, sam o (B) dtg v, feg o, s g
(C) g o, 5 o, feg ot (D) feg o, firg o, stg ad
58. Hajo is considered as the confluence of the three religions :
(A) Hinduism, Sikhism, Islam (B) Buddhism, Hinduism, Islam
(C) Buddhism, Jainism, Hinduism (D) Hinduism, Sikhism, Buddhism
59. SRILF efsfiiig I @ Fafle @M TeiR fe-REE T g em
3 ?
(A) T O ATE (B) TR
(C) T RICTI 7 RIE! (D) 2 FRfoel SIS
59. I SRR TR & GO S et o FeR efsfafig F6e 2
@A) T SARE (B) TARRA
(C) o5 TRIBTRA = RN (D) 2 fodioe S
59. TR T3 Gy TMETHE! BRI “3THITR sk farmr 2
(A) st wrEmEgr IR (B) Ut
(C) it fafSranferfa mmers faforfirty (D) Treemi fommsafy sRIMRR

[ [m]
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59.

59.

Frefefiaa o @ s SHfEd o1 Afdiie s o g gemEm forid g 2 7

(A) T HEI ST (B) wreHuTe

(C) 3= =TT % J& e (D) & Hater g

Who amongst the following is the ‘anti-corruption authority’ to represent the
public interest ?

(A) Chief Information Commissioner (B) Lokpal

(C) Chief Justice of High Court (D) Chief Election Commissioner

60.

60.

60.

60.

60.

SRSRI IR GG P SeTe Teq FRT 7IIFe) TR “fm (NCHAC) (0w
e ?

(A) I P! (B) %65 SpIb!

(C) o3 SpIDl (D) TSP

SRS IR (I 7P S Ted IR #A4ey FRre(1FTe sifeam afde zafee ?
A) e (B) 1% 7l

(C) =B il (D) T v

TTET HISR ISl ARG MYHE! IRATR FfSfaf 59 SiiE T e ¢

A) w7 (B) w5y

(C) Wit 8fx (D) w6

Tfgam i fora T & T8d ST HBR T T THve (. 8.7 ) 1 7e4 foman
T ?

(A) e e (B) el stg=
(C) e Srgget (D) B3 A

Under which schedule of the Constitution of India 1s the North Cachar Hills
Autonomous Council (NCHAC) formed ?

(A) Seventh Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Sixth Schedule

W]
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61.

61.

61.

61.

61.

T @F AT 12.5% ZPT BT AT 119 ol | FRAFH! (2"

(A) 130 B) 125

(C) 148 (D) 136
GG FRIACF 12.5% FACE 119 /171 AR | 7411 -

(A) 130 B) 125

(C) 148 (D) 136

T SRERET 12.5% THRETAT 119 ST | & STHRER AT ?
(4) 130 (B) 125

(C) 148 (D) 136

Teh HEAT 99 12.5% Hedl 8, 4l 119 81 91l @ | 918 —

(A) 130 B) 125

(C) 148 (D) 136

A number when decreased by 12.5% becomes 119. The number is
(A) 130 (B) 125

(C) 148 (D) 136

62. @I «F ST CFaTe (22 300 .1.2 WiF 27[ F7 ™af =0z 25 6.1, | Ieia
AP 2 :
(A) 88T.I. (B) 70 7.1
(C) 64T5.[. (D) 58 T.J.
62. IIIL ARSI (Fael 300 TI.N.2 932 O el Tiol 25 T1.N. | SIRrcEraie #IfFM
(A) 88N B) 70PN
(C) 64 wf D) 58 M.
SPACE FOR ROUGH WORK

EIEEI
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62.

62.

62.

TS STaf SsamsRET STem 300 (3.f4.)% 31 af @' g asuTs S 25 3. |
o A gRffe fagmn sger ?

(A) 884.fu. (B) 70%.f.
(C) 643.fa. D) 584.fu.
Teh TIA ST &%eT 300 a7 8.1, 2 3R 3ok forehul it &7amg 25 T, B | 3TRId o1 4iT 8 —
(A) 88w .. (B) 70w,
(C) 6431, (D) 58w,

The area of a rectangle is 300 cm? and the length of its diagonal is 25 cm. The
perimeter of the rectangle is

(A) 88cm (B) 70 cm
(C) 64cm (D) 58 cm

63.

63.

I 9T SR 7199 T 3] 299 TTSCF 2 T | I SAINGE 776 2 @ IF 295 3 @
99 41 27, mi%iﬂ’cﬁ | S2ARACH! TR :

(A) (B)

Qo W
Ol3 o|w

©) D)

GG SAKE 714 ©fF = (AP 2 P | T 0P 2 AT 5[990 A B 4R BICP 3 A 7

1 R O ©NIG woR %mzﬁw%m:

(A) (B)

©) D)

Qo W
O3 o|w

SPACE FOR ROUGH WORK

o
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63. THH SERERGIH TSR THHTHES 2 @ | i TASE! 2 S s iean SR Tt
3ﬁw@w,mwﬁmﬁwm%|éaﬁ@3@aﬁ3ﬂm

(A) (B)

St e
O3 o|w

(©)
63. T fUa o1 379 30eh & T 2 H & | A 39 I 2 T Tom Foharm S 3R F I 3 7om Feeanm
s i frm 2 @ R | o 2

D)

(A) (B)

St e

©) D)

O3 ot|w

63. The numerator of a fraction is 2 less than its denominator. If the numerator
is multiplied by 2 and the denominator is multiplied by 3, then the fraction

2
becomes 9 The fraction is

(A) (B)

St e
O|~3 ot|w

©) D)

64. @ICN 93 RleRa o9 IIF @R TSHEF 591G T (AR 16 I27; (@96 o 91 o759 91
T 15 29 FIF (& QA5 951G 797 2 18 29 |

AT 261 o191 I (Rl TR SIS (R0 :

(A) 5:2 (B) 4:3
© 2:1 (D) 3:2
SPACE FOR ROUGH WORK

EIEEI
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64.

64.

64.

64.

G R (= 8 TIER 91T T 16 IS | (F96 (XEAWR 91T R 15 IO GR (&
N 1T TP 18 IO | RIpRRIGTS (2051 8 R ST ;

A 5:2 B) 4:3

©) 2:1 D) 3:2

T HUIETRE S e AW s G 99 W aHe e 16 SE | g
TS ®RA S| T/ AEST 15 S| 3R fE=sresn mien B 96 W aEsT 18 IR | 9
EURETTASTS BT TR fereTaraTh R TTg3T see ?

(A) 5:2 B) 4:3

©) 2:1 D) 3:2

T Thel 1 TTgeh 3R Agiehal gl o1 A 31 16 a9 2 ; Shacd oTgehl shl 3f1gd 3117 15 9§
2 3TN haet Arefendl i 3ed 311g 18 Y 2 | Whel H TIgehl Ud SISiehal shi TEAT 1 JTITT
3_

(A) 5:2 B) 4:3

© 2:1 (D) 3:2

In a school, the average age of both boys and girls is 16 years; the average
age of only boys is 15 years and average age of only girls is 18 years. The
ratio of the number of boys and girls in the school is :

(A) 5:2 B) 4:3
© 2:1 D) 3:2

65. (1—%} (1—%) ......... (1—%) (1—1—10) SPHFIRICER T (2= :
@ 1 ® 16
© —35 o) %
SPACE FOR ROUGH WORK

o
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65. (1-3) (1-3] o (1-) (1-5) T ==
@ 1 ® 15
© -16 ®) 3

65. (1-3) (1-3) e (1-3) (1= 55 oo g
@ 1 ® 15
© -16 ®) 3

65. w5 (1-3) (1-3) o (1-3) (1-55) Fam2 -
@ 1 ® 5
© -75 ®) 3

65. The value of the expression (1-3] (1-3] . (1-3] (175 ) s
@ 1 ® 15
© -16 O 3

66. 14,21 SF 28 T A.B. S 9.371.8. T T (22 IAFH
@) (84, 19 ®) (6.7
© (84,7 (D) (56, 14)

SPACE FOR ROUGH WORK

EIEEI
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66. 14,21 €% 28 9T 318, G 517, T
(A) (84, 14) B) (56, 7)
(C) (84,7 D) (56, 14)
66. 14,21 3 28 M g.37.41. (HCF) 31 g.370.41. (LCM) 31 %1
(A) (84, 14) B) (56, 7)
(C) (84,7 D) (56, 14)
66. 14,21 37 28 & TA. 1. TH. 37 U= €T, HAW: § :
(A) (84, 14) B) (56, 7)
(C) (84,7 D) (56, 14)
66. The LCM and HCF of 14, 21 and 28 are respectively
(A) (84, 14) B) (56, 7)
(C) (84,7 D) (56, 14)
67. 1,2,4,8, 16, ........., 256, 512 *RIFIES Al M AL 120
A) 10 B) 9
© 7 D) 8
67. 1,2,4,8, 16, ........., 256, 512 FHS “I7d R4 :
A) 10 B) 9
© 7 D) 8
67. TR EIREE AHeE fage g : 1, 2, 4, 8, 16, ... 256, 512
(A) 10 B) 9
© 7 D) 8
67. T @M AT R EENR: 1, 2,4, 8, 16, ......... , 256, 512
(A) 10 B) 9
© 7 D) 8
SPACE FOR ROUGH WORK
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67. The number of terms in the series 1, 2, 4, 8, 16, ......... , 256, 512 1s
A) 10 B) 9
© 7 D) 8
68. T ¥ 5277 TA0@ 1 : 50000 (FTS S F91 (2R | AACALTS 5! B 739 12
(5.1 | ZDR Wree &5 79 (R ;
A) 6=FM (B) 9fs.f.
© 12f.M. D) 15 %M.
68. (b *1ZCRF D@ 1 : 50000 HI*l 40 e 1 29T | AO@HCS 76 2/ 7% 12 L. |
EORUEERRIREGEEGE
) efsf B) 9f.f
C) 12 %M. (D) 15 M.
68. T HEM AMEERE! 1 : 50000 THANTE JRIGI | o AHTSTRISTE TREAHT Ga-
TSR3TE TR THARIST SO 12 T, | & TREE g i semen o9 ?
A) 6fs.fa. (B) 9fs.fa.
(C) 12 f&.fu. (D) 15 f.fu.
68. T EHT AN 1 : 50000 % A T AR fehart Sra1 8 | AHIH W Q1 €AHT % i< hl gl
12 9.7 8 | S T o = i areatas gl & -
A) 6fwf. (B) 9f&w.i.
(C) 12 fop.1t. (D) 15 fop ..
68. The map of a city is drawn on a scale of 1 : 50000. The distance between two
locations is 12 cm on the map. The actual distance between the two locations is
(A) 6km B) 9km
(C) 12km (D) 15 km
SPACE FOR ROUGH WORK

EIEEI
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69. TG UB! AT @91 12 S FRLMBE I97Fe19 “{1495 C=20= 60 | FRUMGIF A& i<

[
A) 4 B 3
(C) 6 D) 5
69. 7215 MR @I 12 @R SR A0 A1 60 | 71471 1267 #/14 297
A) 4 B 3
(C) 6 D) 5

69. T ERHEIN TEETET FEE 12 AR 9GRS GRETRET JEE 60 | 9 AR
A wRETRRET AT ?

@A) 4 B) 3
C) 6 D) 5
69. Tl T T AN 12 7 3 Ik ot 1 3R 60 2 | T T3 o ofie b1 ST B —
A) 4 B) 3
© 6 D) 5

69. The sum of two numbers is 12 and the difference of their squares is 60. The
difference between the two numbers is :

A) 4 B) 3
€ 6 D) 5

70. 2009 200% IV« =Z2']

(A) 40,000 (B) 400
(C) 4,000 (D) 440

70. 200 €I 200% =5 :
(A) 40,000 (B) 400
(C) 4,000 (D) 440
SPACE FOR ROUGH WORK

o
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70. 200 f1 200% 311 SIFTA
(A) 40,000 (B) 400
(C) 4,000 (D) 440
70. 200 %1 200% & —
(A) 40,000 (B) 400
(C) 4,000 (D) 440
70. 200% of 200 is
(A) 40,000 (B) 400
(C) 4,000 (D) 440
71. AW 5-NE AGIZOE T MRANGA 77l 3-SRFYE HG2OF TIed IR R 1
27, (S8 T 27 :
(A) 9001 (B) 9000
(©) 9990 D) 9999
71, Toafs S0 B 9If0® 2R TR AL SF 7| 9/f5® - 72451 (T [ T
el 27 ¢
(A) 9001 (B) 9000
(©) 9990 D) 9999
71. 3 feEmTAT (digit) et IHSHTR 5 foEmmHT S 3HfSHRE! @ diseT fhemn
ST
(A) 9001 (B) 9000
(C) 9990 D) 9999
71. 3fg 5 311 1 T DI TR H Y 3 37ehi ohl T TSI T T € ST, o RO ST 8 —
(A) 9001 (B) 9000
(C) 9990 (D) 9999
SPACE FOR ROUGH WORK

EIEEI
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71. If the largest 3-digit number is subtracted from the smallest 5-digit number,
the result is
(A) 9001 (B) 9000
(C©) 9990 D) 9999
72. 18— [6— {4 — (8 + 3)}] I i+ o<l /41 |
A -2 B) -5
C) 5 D) 2
72. 18 —[6—{4— (8 + 3)}] €I W sy =53 -
A -2 B) -5
© 5 D) 2
72. 18— [6—{4—(8+3)) FAmfega ?
A) -2 (B) -5
(C) 5 D) 2
72. 18 —[6 — {4 — (8 + 3)}] T UM JTd HIfT |
A) -2 B) -5
C) 5 D) 2
72. Find the value of 18 — [6 — {4 — (8 + 3)}]
A) -2 B) -5
© 5 D) 2
73. 9o« G &lfs Wbe 35 Bf *1% 5125 F AT | 987 B *1% 5125 I (O&F Fa=
SRS G 23 2
(A) 27 WG 12 e (B) 28 NG 8 e
(C) 27 WFG 7 B (D) 28 b 12 B9
SPACE FOR ROUGH WORK

o
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73.

73.

9F e &fs [+ 35 BI *1<1 T FCS 4 | O 987 G X% JuiFa F900 F© 7
I 2

A) 27 WG 12 e (B) 28 ffelb 8 G

(C) 27 WRG 7 e (D) 28 b 12 CTFe

T8 g ¥ fuftera 35 Gige egd (Type) T1 811 | 987 Hig@! <189 A1 forit & TMiema
TH AT 7

A) 27 fufe 12 9= (B) 28 fufte 8t
(C) 27 fufe 7a%= (D) 28 fufe 12 %=
73. T AR 35 I1eq W fie i G H 2137 a1 & | 38 987 I16G 239 i H ToheH1 T TAT 2
(A) 27 fime 12 Oe (B) 28 fire 8 T=hs
(C) 27 fie 7 U (D) 28 fire 12 WS
73. A person types at the rate of 35 words per minute. How long will it take him
to type 987 words ?
(A) 27 minutes 12 second (B) 28 minutes 8 second
(C) 27 minutes 7 second (D) 28 minutes 12 second
4. — T - ! T I a7 |
1+§ 2+§
@ 15 ® 3
© 1 D) 0
SPACE FOR ROUGH WORK

EIEEI
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74. 41 — 71 G T g 399
1+§ 2+§
1 1
A) 19 ®) 3
© 1 D) 0
74 17 iE|
) 1 1 M feg |
1+3 2+3
1 1
A) 19 B 3
€ 1 D) 0
4 7
74. 1 - 1 Wﬂ'l’v[?l’lﬁaﬁli\ﬁﬂ |
1+§ 2+§
1 1
A 15 B 3
© 1 D) 0
. 4 7
74. Find the value of 17 1
1+§ 2+§
1 1
A 15 B 3
© 1 D) 0
75. {~7,-6,-5, ....., 5, 6, T} *RUFNGS (20| ASIH 7RI AR 2
A) 15 (B) 14
© 7 D) 8
75. {~7,-6, 5, ....., b, 6, 7} TFALCS FSIRF A T Sl 2o :
A 15 (B) 14
© 7 D) 8
SPACE FOR ROUGH WORK

SLRC-2022/P-I/A
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75. {~7,—6,-5, ....... 5, 6, 7} & BINATE T Teg i A g ¢
A) 15 (B) 14
© 7 D) 8
75. {~7,-6, -5, ....., 5, 6, 7} *FG@AT H IUCTeY WTeh{ceh TG ohl el T & —
A) 15 (B) 14
© 7 D) 8
75. The total count of natural numbers available in the series {7, -6, -5, ....., 5, 6, 7}
1S
A) 15 (B) 14
(C) 7 D) 8
76. ifeT 212 77 41 1 149,600,000=__ x 107
(A) 1496 (B) 149.6
(C) 14.96 (D) 1.496
76. 2 7 91 149,600,000=__ x 107
(A) 1496 (B) 149.6
(C) 14.96 (D) 1.496
76. Wit ARG 377§ @™ : 149, 600,000 = x 107,
(A) 1496 (B) 149.6
(C) 14.96 (D) 1.496
76. & ®WHHIW : 149,600,000=__ x 107
(A) 1496 (B) 149.6
(C) 14.96 (D) 1.496
76. Fill in the blanks : 149,600,000=___ x 107
(A) 1496 (B) 149.6
(C) 14.96 (D) 1.496
SPACE FOR ROUGH WORK
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71.

71.

71.

71.

71.

“x TR IS 9 I(CHAT (AT 80 GTCS G5! I90Faq ST Rofer @t ol
R I

T [RYRothia Srealfersr eimm t2re :

(A 2x%+ 3x (B) 2x? + 4x

(C) 2x2+7x (D) 2x2+12x

“x TSR 2B @b 0ol q2e8¢l thazrsl (12 3sifbw femesd siffas et iel <1l 2e1 |”
T [feio SremalfeRioss i :

(A) 2x2+ 3x (B) 2x2+ 4x

(C) 2x2+7x (D) 2x2+12x

“x TR THT HIE st geerrsffy S & sifamr anfife femt et grefee | &
e

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x (D) 2x%+ 12x

“YTT & % Teh 11 & &Gl o & T 1 ST o7 oh TRATT o < T H i fean Smar 2 17
IHIh HY hT ST ST ¢

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x (D) 2x2%+ 12x

“Two times the area of a square of side x is added to three times the

perimeter of the same square.” The algebraic expression of the above

statement is

(A) 2x% + 3x (B) 2x2+ 4x
(C) 2x2+ Tx (D) 2x2+ 12x
SPACE FOR ROUGH WORK

o
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78.

78.

78.

78.

VO ST S TR @91 AW FRYGMGIN TISIBIN A AP [EISFem Wi 23
(08 e Sfe 3T=q (@l @bl wa Sfe =] ?

(A) D! o1 Y72 Frelfe 7 23 A |

(B) 14 A 7O 41T ICH %) 2 |

(C) <l 5% IRYJq 2IRSTHIN SIFCE! S FREI TS [ 277 |

(D) WG RIS TFS: GO T W[ 2T |

w25 ST <) RLIT @lerre (@5 AT @ TR (S [T T =
forcw e @m I 5Ty 2

(A) 72 oRYIR FSI 72251 2o 24 |

B) 726 SR oSt A T = |

(C) Glb 7Pl Sw1g =jef 7221w efiotens =33 |

(D) 726 PR TS G %+ 2 |

Jfe Tam 98 @ U i gereTE § @ U sEfi tfm amafies
RGN g TTETE WA ST S SR, STe e sea e ey |

(A) T i e e s sem e

(B) T T IHSHT TSRS SieaTgs AT’ S

(C) HHETHE (inverse) I IEA VT SHRNHIS THM ST

(D) A= T IENHT THE3T AR SR

Ife G 3TEHT QUTTeh! <hT ANT T g1 UITh] § & oIS & BIE o T & SOk &, i feforfad
FY R A HIATEIR 7

(A) T qUTTeh SThfdeh @Y BT <T(eT |

(B) @I quTiehi 31 AT GHIM I BIAT 2 |

(C) U qUTTeh T STt ok qUTTeh oh SIeR BT 2 |

D) YEIRAAFTARITH AR |

SPACE FOR ROUGH WORK

EIEEI
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78. If the sum of two unequal integers equals the subtraction of the smaller from
the larger of the same two integers, then which of the following statements is
correct ?

(A) The two integers must be Natural numbers.

(B) The sum of the two integers is always zero.

(C) The inverse of one integer equals the other integer.
(D) At least one of the two integers 1s zero.

79. I 9Bl e ffbi amq (el T2tz 2.3 .M., 20 f.f. o1 23 f.fi. | fqgeh ta
@51 :

&) e fogs (B) T fage
(€) WA fogw (D) e fage

79. 310 fqgres feafb Iz e 2.3 P1LI., 20 . @32 23 FLWL | faoeTs (G
&) frare fags (B) T fage
(€) I fags (D) R fags

79. WHY T U SR Aem degEeT 2.3 9., 20 . s 23 .«
TR AT A
(A) THE AfE smanfr smarfRem (B) HHM @ ARSI
(C) Ty ImETfrum (D) RIS AT I

79. Teh 1 Y i st B g 2.3 A, 20 fu A, 3w 23 fud B | Brepior g -

(&) fergerag Frepror (B) s fashror
(C) wwHI Brigst (D) wwfgaTg Frpror

79. The three sides of a triangle are of length 2.3 cm, 20 mm and 23 mm. The
triangle is a/an
(A) Scalene triangle (B) Equilateral triangle
(C) Right angled triangle (D) Isosceles triangle

SPACE FOR ROUGH WORK

o
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80.

80.

80.

80.

TR GOIF (AT AN (2R :

(A) % x (4 OeR TTafa areeT)

B) 2 x (FF qERT (T @oiEe)

(C) % x (5 OIeT CTfT SfaerEe)

D) 2 x (F° Tl (eI 7[<eIe)

QTG RO THATe

(A) %x@ﬁzsﬁammﬁw)

B) 2 x (F4 727 TR @lazre)

(C) %x(ﬁs‘f‘ﬁ%ﬁm@W)

D) 2 x (34 7207 TR @)

T (Rhombus) SeATSRET e

(A) %x(ﬁﬁmaﬁﬁmm)
(B) 2 x (el @EIE! S ATERET gTeTE)
(©) 5 x (ufy wTaT < e ETTR)
(D) 2 x (fsf7 TETE! SR T TsTT)
TS T SThel SUET Bl § —

(A) % x (5% 2 Fa o e a1 )

(B) 2 x (34 < fereputt &Y 1&g o1 IT)

(C) %x(sﬁamﬁﬁﬁmﬁww)
D) 2 x (39% g TerehuTt 1 ASTE BT UHG)

SPACE FOR ROUGH WORK

SLRC-2022/P-I/A 57

o

P.T.O.



80. The area of a Rhombus equals
1
(A) 9 X (sum of the lengths of its two diagonals)
(B) 2 x (sum of the lengths of its two diagonals)
1

(©) 9 X (product of the lengths of its two diagonals)

(D) 2 x (product of the lengths of its two diagonals)
81. 2 —b5x+ 6 x— 3 T2 I CHIII 291 (2=

@ 1 B) x—2

© o0 D) x+2
81. x?—5x+6TF x— 3 I A Sl FICE

@A 1 B x-2

<€) o D) x+2
81. x2—5x+ 6@l x— 3N TG THAT THATS3T T

A 1 B) x-2

© o D) x+2
81. x— 3G &2 — 5x + 6 H1 fIWTSH T 1 IROMT 371 8 —

A 1 B) x-2

© o D) x+2
81. Division of x2 — 5x + 6 by x — 3 results in

@ 1 B) x—2

<€) o D) x+2

SPACE FOR ROUGH WORK
=
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82. @2 20 I FISIE IR @I (2R :

A) 210 (B) 120

(C) 124 (D) 310
82. &N 201 AR FRYFF @I9Fe] 29 :

A) 210 (B) 120

(C) 124 D) 310
82. fifsfem 20 fafm swfmm (Natural numbers) T geme@3T SIFTH

(A) 210 (B) 120

(C) 124 D) 310
82. TW 20 (e T3 1 AT & —

(A) 210 (B) 120

(C) 124 (D) 310
82. The sum of the first 20 natural numbers 1s

(A) 210 (B) 120

(C) 124 D) 310
83. xZy |IF xy2 9IS, 2 :

A) «x B vy

C) x+y D) xy
83. xly @R xy? 9% 9.8, 2 ;

A) x B) y

C) x+y D) xy
83. x2y AW xy2 ¥ ¢.3m.ar. (HCF) 371 I ?

A) x B) y

C) x+y D) xy

SPACE FOR ROUGH WORK

EIEEI
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83. x2y 3R xy2 o TI.HI.US. & —
A) «x B) vy
©) x+y D) xy
83. The HCF of x%2y and xy? is
@A) «x B vy
©) x+y D) «xy
84. (I R IFFH I B! AN 1 SN 72 T SRFCW! y 2 7, (S0 MRANBI 2T -
(A) 10x+y B) x+y
) xxy (D) 10y + x
84, L AN G 2 x GIR T ZA y AP &g TR 24
(A) 10x+y B) x+y
) xxy (D) 10y + x
84. fe Ha sty gafy emafafy fommam x 3 gfs arafafy fommsn y s, § smfwmen

ST 7

(A) 10x+y B) x+y
C) xxy (D) 10y +«x
84. 3T IS o T T 37 x & 3N GETS o T W 37eh y &, A1 T [ohdeh gRIGI TS & ?
(A) 10x+y B) x+y
C) xxy (D) 10y + x
84. If the digit at the unit place is x and the digit at the ten’s place is y, then the
number is given by
(A) 10x+y B) x+y
) xxy (D) 10y + x
SPACE FOR ROUGH WORK

o
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85. el foefey 041 : @_2 N %)‘2 .\ @—2 . @—z

@ i ® L
© (D) 54
o o
@ 3 ®) 7
€ 14 D) 54
o Qo
@ 1 ® L
© (D) 54
o it 4
@ 1 ® L
© ®) 54
. s (4
@ 1 ® L
© (D) 54
SPACE FOR ROUGH WORK

EIEEI
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Q. Nos. 86 — 87 : Fill in the blanks with correct articles :

86. Edmund Hillary and Tenzing Norgay were ____ first to conquer Mt. Everest.
(A) the (B) an
C) a D) it
87. Mr. Bennet left his property to___ unknown heir.
A) a (B) an
(C) the (D) some

Q. Nos. 88 — 90 : Fill in the blanks with correct prepositions :

88. Have pity the poor.

(A) with (B) of

(C) at (D) for
89. Take precaution cold.

(A) against (B) for

(C) with (D) within
90. The picnic table 1s placed the tree.

(A) under (B) underneath

(C) beneath (D) below

=
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91.

Q. Nos. 91 - 93 : Choose the correctly spelled word :

(A)

©)

Veterinary

Veternary

(B)

D)

Veterinery

Veterenery

92.

(A)

©)

Elemantary

Ellemantary

(B)

D)

Elementary

Elemantery

93.

(A)

©)

Dissimilar

Dissimmiler

(B)

D)

Disimilar

Dissimiler

94.

Q. Nos. 94 — 95 : Choose the correct pair which is similarly related.

(A)

(B)

©)

D)

Good, Best
Tall, More tall
Fat, Rough

Worser, Bad

95.

(A)

(B)

©)

D)

Funny, Funnest
Order, Disorderly
Keen, Kind

Calm, Calmer

SLRC-2022/P-I/A 63
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Q. Nos. 96 — 97 : Choose the correct pair of words which are OPPOSITE of

each other.
96. (A) Rough — Coarse (B) Artificial — Synthetic
(C) Take — Accept (D) Sad — Happy
97. (A) Easy - Tender (B) Within — Outside
(C) Right — Correct (D) Closed — Shut
98. Choose the correct pair of words which are SYNONYMS of each other.
(A) Evil — Blessed
(B) Cheat — Deceive
(C) Above — Below
(D) War — Peace
99. A group of Dogs is called

(A) Pack

(C) Herd

(B) Swarm

(D) Flock

100. A group of Monkeys is called

(A) Troop (B) Cluster
(C) Rabble (D) Herd
[®]:am]
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101. [T *R<=ICE! S9-G12 717CeT 7S] BT 1% 123 a1ifar 2
ACRA, BDSB, CETC, DFUD, ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
101. (AT TS FACS “RISICS PSP ?
ACRA, BDSB, CETC, DFUD, ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
101. TTER BIRE TREIETE YT JTARSITE 1 6 TR0 ?
ACRA, BDSB, CETC, DFUD, ?
(A) EGVE (B) EVGE
(C) EFGE (D) EGFE
101. e SR W@ h foTu 3171 R 371 =1fen ¢

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
101. What should come next to continue the series :

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE

102. T TR R¥72 o W:2e19 § Bzh! efsgim s 7if 2
2, 3), (4, 5), (6, 7), $, (10, 13)
@A) 8, 11) B) 8,9
© (7,98 D) (7,11)
102. T 1R (ROl $ 97 ARKCE P 2
2, 3), (4, 5), (6, 7), $, (10, 13)

A (8,11) B 8,9
© 7,8 D) (7,11)
=
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102. 59 ™ ST $ e gierme ?

2, 3), (4, 5), (6, 7), $, (10, 13)

4) (8, 11) B) 8,9

©) (7,8 D) (7, 11)
102. T3 i i H S T $ b T R gfaeeiid ST =g ?

(2, 3), (4,5),(6,7), $, (10, 13)

A) (8,11) B) (8,9

©) (7,8 D) (7, 11)
102. Which pair of numbers should replace $ in

(2, 3), (4,5),(6,7),$,(10,13)?

4) (8,11) B) 8,9)

©) (7,8 D) (7,11)

103. IS Sq@TS (@G!Sl ?

(3,17, 15, 33, 63)

(A) 33 (B) 15

©) 17 (D) 63
103. 0" S04 RISl T @I s ?

(3,7, 15, 33, 63)

(A) 33 (B) 15

©) 17 (D) 63
103. (3, 7, 15, 33, 63) ATRG AR sl SFATHRT T FST ?

(A) 33 B) 15
©) 7 (D) 63
103. fTr=farfga o @ i o g 31ghm (3, 7, 15, 33, 63) A HE T R 7
(A) 33 B) 15
©) 7 (D) 63

SLRC-2022/P-I/A 66

A



103.

Which of the following numbers is not correct in the sequence (3, 7, 15, 33,
63) ?

A 33 (B) 15

<© 7 (D) 63

104.

104.

104.

104.

104.

TS IR Sl SRR 2Jf&, &, (oI2d, IR ST AT P20 JUFE (72T,
AR, 7RG, S S ST ARG JCN = | CEHIES TS @I e I ofe
RI12 IS, (O0® (08 (2013w 5 {51 2

(A) TN (B) =T
© = D) @
ToNeIETTSd BN SN SRR RK, w@, SE, AP @R AT XHSRIE T

T, AP, ARG, P @I T @ 27 | T (2 (e ST FA0e G0 oS
W OE@ G BIRE ?

(A) et (B) SIiPM
(C) drom D) e
TTTeIvg SRS A1 A7, 981, <, I, IR TR 3T HigahRE! B g S

AR, 91, §8H, W AW ¢ | I T8 THHAST TGV 3776 gae el 3T S98™ ¢
TMETEAT |41, S 99 @™ diE 7

(A) | (B) 1@
(C) R D) ¢

et 31 ST HIWT 3 STTAR G, ST, FehT™l, ATy 3T TN o Ieg SHT: Tehr™l, 91,
el ST TR SIS § | 3R h1S TS ST STR 8T T &1 e, o 98 o e 7

(A) Tt (B) 3™

€ =g (D) S«

As per the local language of Gogaland, the words for earth, water, light, air
and sky are the light, air, earth, sky and water respectively. If one visits
Gogaland and gets thirsty there, what would he ask for ?

(A) Light (B) Sky
(C) Air (D) Water
=
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105.

105.

105.

105.

105.

fReTe FAPTIRT IR 3on ST ?

(A) BIR:3E (B) T$9 : WIS
(C) =4 : B (D) izl : orgreT
e T wielefr @Hb sremei S ?

@) =Y (B) FI7 : FIEH
(C) el : I D) *9: @

T AT TR S e ?

(A) TE g S§E (B) dmr: qurwta
(C) g : WA (D) 3HI: TR
fferfiga o & 5 =1 3w e gafera B 2

A) Tafes : omen (B) M : et (FTR)
(C) el : geET (D) H3W : Wig
Which of the following pairs is incorrectly matched ?

(A) Birds : Nest (B) Dogs : Kennel
(C) Horse : Stable (D) Pigs : Den

106.

106.

T 299 &l F D @, 799 2fFF M @, @l &5 A @ i [l afews S @
IR =Y, (90T (RS @D e 7oy 27 2

(A) 32A8M16D4=-3/2 B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 (D) 9A9S9DIMY9=09

M D o =, M 789 =, A @ = 93 S [ = o e St @i [feft
ey ?

(A) 32A8M 16D 4=—3/2 (B) 6M 18D 26S 13 A 7=173/13
(C) 11M34S17D8S3=38/3 (D) 9A9S9DIMI=9

W]
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106. Jfe D 311 T, M 31 GHSTEAR, A 31 SRIEAR AR S 31 @ 1™ HRARI, 316
TR S fagfors e ?
(A) 32A8M16D4=-3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9
106. I D UM E, MR, AN ® 3R S U1 8, @l Ffaifga s a s oA A @ 7
(A) 32A8M16D4=-3/2 B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9
106. If D is division, M is multiplication, A is addition and S is subtraction, then
which of the following statements is true ?
(A) 32A8M16D4=-3/2 B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9
107. T3foTiRe =g (0! SHE=E G 1< 727 ?
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
107. 10 TR (HITIG S X1 =73 2
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
107. TERH 56 HHHT HUIHE T e 787 ?
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
107. Fafafed 4 & ®F AerA fi v T 2 ¢
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
107. Which of the following is NOT a branch of study ?
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
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108. f&FFH (XF1F OC® To® =1L Bolle 41 |

Q) oo (B) IR

(C) PrE=m (D) g
108. &5 (e et TS ARG e 9 :

&) coferelfd (B) IED

(C) ToIg-wit (D) fepf
108. fhehe TotgST Sves MHT et fimmT |

A) feefterdt (B) 13

(C) Tuep 3 (D) T
108. Tsrohe o @t = a1 Taferd 3reg 61 Ug=™ i |

A) fefiadt (B) &R

(C) fueh 3 (D) fead
108. Identify the term associated with the game of Cricket.

(A) Delivery (B) Counter

(C) Pick up (D) Reverse

109. “THS! : 2[S” ¥ YO S 7o *[<1 151 2

(A) Pants : Legs (B) Cap : Head

(C) Gloves : Hand (D) Belt : Neck
109. “Tol : IS” QWA TS YFRIF THFS =% (SIif’ bz 79 |

A) =% : Al (B) B : =

(C) =oHEl : T© (D) TPRRAF (D) : o0l
109. ‘ST : ATETE” STsfe W M SRE STy |

(A) TSI ; 3T (B) 9fk: &

(C) ST g : e (D) e : MR
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109. T Seg] shl SIEH 31 8= I a8 9 i 58 [ : FA

(A) Te: W (B) ot i
(C) T4 : B (D) ®e< : e
109. Identify the pair of words related in the same way as “Shoes : Hands”.
(A) Pants: Legs (B) Cap: Head
(C) Gloves : Hand (D) Belt: Neck

110. 278 SR MR (PIFCG! R SCIIE K5 AR TeTg e +2 ?

(A) 256 (B) 884
(C) 128 D) 512
110. 0 (831 FR2FIGTER T (@G G958 @I SHGE =17 ?
(A) 256 (B) 884
(C) 128 (D) 512
110. TEREH € HHH SARNHRT & T g1 H4 ST87T T87 ?
(A) 256 (B) 884
(C) 128 (D) 512
110. < 7 FEnatt § A I o U & g & w2
(A) 256 (B) 884
(C) 128 D) 512
110. Which one of the given numbers is not a part of the same group ?
(A) 256 (B) 884
(C) 128 D) 512
111. TG %< SEHE ST A SRS TGS 727 ?
(A) Sleeper (B) Lower
(C) Stopper (D) Upper
111. TP *15 ST 0 953 WETH SBYS 7 ?
(A) Sleeper (B) Lower
(C) Stopper (D) Upper
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111. o GG ATAHTE HGITHRS | HSHR BRA13TTE GIHTSIRT ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
111. I |1 35 A9 HYE o 91 FEld 781 & 7

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
111. Which word does not belong to the group with the rest ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper

112. BIRG! =@ fooTe, @R *™ SERE CITS 77 723 ?
(A) Asia (B) Europe
(C) Australia (D) Africa
112. BIRG *Cwa & G S Sefzhel 73 2

(A) Asia (B) Europe
(C) Australia (D) Africa
112. HS T ATeTd o1« TGS T RS T ?
(A) Asia (B) Europe
(C) Australia (D) Africa
112. TR oG] # § o 91 36g goll & forerar-erar T8 2 ?
(A) Asia (B) Europe
(C) Australia (D) Africa

112. Of the four words, which one 1s not similar to others ?
(A) Asia (B) Europe
(C) Australia (D) Africa
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113. &7 *PTes [6o9"S #j2i% *=o! [oifS Sferea

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
113. 0 SCEfs =me3feTs W0 S (/I 72 =10 Y08 & I |

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
113. TERETE EFM™ HGEhHRI HTere e BRI et AR 7

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
113, Tferfiad wregi # b w1 =i @ fird @i |

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT
113. Of the following words, find the one different from others.

(A) APQRC (B) XPQRZ

(C) LPQRN (D) SPQRT

114. 6574398 MY SRIFEIT TIRT P4 BT #71 SBIRSF 7@ FRAGIGE 77 FAirers
(IR =15 21fpa 2

(A) 6 B) 5
C) 7 D) 4
114. 6574398 €2 THYE 2 IE@ @ Fuew Al e 2@, o2 e 55 T
oG =T ?
A 6 B) 5
<€ 7 D) 4

114. 6574398 FfmT & ferrrst GRS g sisfgs gefem sHfm Tswume aHE
fommaT o1 e 2

A) 6 B) 5
<6 7 D) 4
[=]:i[w]
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114. 6574398 o Tt 37ehi T ITANT Hich TS ST Hebl aTeil T B T U, Sleh " T A

T 37 B 7
A) 6 B) 5
© 7 (D) 4

114. In the smallest number that can be formed by using all the digits of 6574398,
what would be the digit exactly in the middle ?

A) 6 B) 5
© 7 D) 4

115. 23 IR TS 3¢ =i “izex) 3¢ qit 2=l =051 oo 1 |

(A) BOLT (B) TELL
(C) BELT (D) TALE
115. ZCEE! 711 St @2 Aigex 7 21! *<afl fofeee 59 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
115. ST EREMTTH A1y SR ST Rl A 9 ¥ dige A ?
(A) BOLT (B) TELL
(C) BELT (D) TALE
115, 38 35q <hl TE= h FTEH SIS FOMTEAT o o 3TN Uierel g1 &R & |
(A) BOLT (B) TELL
(C) BELT (D) TALE
115. Identify the word which features both the second and the fifth letter of
English alphabets.
(A) BOLT (B) TELL
(C) BELT (D) TALE
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116. Q3 I5([Phoq FAEIF 27 7 Tee ©& I (2111 Sifiies SIpRoth! (2R «bl
&) g fags (B) e fage
(C) T frgs (D) TEEIA fags
116. 315 501 TR @RI S ©ie 01 Seoiifire sififes wiphefb =
&) 7 fags (B) e fage
©) Wi fage (D) e fage
116. & ST Al THTCTE! T TR STt 2FTeeT SR Y3 Tt 07 ST ?
(A)  TEAH ATETRIY (B) THM ARG SR
(C) Ty ImETfrum (D) @HTET ARG
116. T TR EHIC i IHeh TRl oh STCI AISA T TROIHT SATRII SR B & —
(&) sl B (B) wwag frygst
(C) s g (D) = st
116. The resulting geometrical shape on folding a square Handkerchief along its
diagonal, is the
(A) Obtuse Triangle (B) Equilateral Triangle
(C) Right Triangle (D) Acute Triangle
117. “S9 RN & (&9 7
“(ooe] SHTF (D |7
B (GO (S |7
M &2 751 Tfe e 27, (o0 $orl Sfethi 77 :
(A) T (B) PTE
(C) == e 7= D) 2
117. “S¥e IR (ACF T
“ToSA T (ACF IT”
BRI (O (AT T~
3w &2 it Ks ey =7, 1 wer fghefb -
A) T (B) et
(C) wroRfle oy D)
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117. “QuH 311 S g3 U

&) &@ (B) @™

(C) oo @i (D) =g iy fagfor
117. “aH sEuA A &SI |

‘Y TH AT E |

“shque S A TR

I T8t &1 HYF I 7, A AHT HAA R -

(A) & (B) 3FEA

(C) 3TFTH B (D) 3THSIA e
117. “Tapan is elder than Emmanuel.”

“Chetan is elder than Tapan.”

“Emmanuel is elder than Chetan.”

If the first two statements are true, then the third statement is

(A) True (B) False
(C) Insufficient information (D) Unrelated

118. I MADRAS *F5IF @I @F ©ae NBESBT 5@ 741 =7, (SU8 6! ©Hre
BOMBAY *R1(GI% (S fo1l¥9 a1ifafq 2
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

118. I @36 e SAF 7@Fe MADRAS & NBESBT Z0T@ @141 27, ©@ @ ©FF
FEFCS BOMBAY FSI@ @141 217 2
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

W]
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118. i @@ wmrRma MADRAS @' NBESBT s@mi (Code) foi, BOMBAY @ &
T T SHRISH TR ?
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

118. Ife we ff3ra wor &, MADRAS 1 NBESBT & &9 # =hifga feran Srm @, a1 3@ wen 8
BOMBAY @1 8 shifed feran samm 2

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

118. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY
coded in that language ?

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

119. ¢ LTS 13 ACEGI T Tifel 5o7 4 oo fo=ifs RI=iest Iefeaiies wifer vet 113 2

(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
119. 9 @ 3 AT 22 *=7 ACEGI =1 211 1 oI Seprael Cafet 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
119. 3ty T G ACEGI ST GRS 45l s HIGHi3 STer ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
119. 37eR 1 HH H1 T FAEH 15g ACEGI g ferifea forem w1 urem T s 8 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
119. Which set of letters does not follow a rule set by the meaningless word
ACEGI ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL

[LIped L]
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120.

120.

120.

120.

120.

AR SRR s slem (AIe SR I | R e ASHTT I S w3
SIS | @2 T ©12 Prezeite 9 om @i < @ i Siiegai2 T | A afent i
e 2 < iR 2

@A) [ (B) Te
(C) =Iffoy (D) wifspel
&Il Sfre AR e AAse <l 2/C5, SRR (T IR (I T SRS “i=em 21 2[T5, Q41T

G1 (IS T SIRe G ~A1 21T, il 3o (@FRMCE 2 B =R ?

NI (B) Ted
(C) =¥y (D) wrs
o 99 SRR 50 3mTE R | S e feRn stmfaf fiféa smoeme 50

IR | dagr for= fifefe=m 31 100 3= arerREmEl | AR o s fenfa A S e 2

(A) @S (B) W&
(C) | (D) @ren
T 3T LS <l T =T heH Tt 7 | TR a8 arff 3T gedt 7, R aeme e =erd § |

& a8 Tt 8 37 T heH Tordt g | o1 b1 g e ferm feam H 7 7

@) (B) W
(C) ufvem (D) gfeor
Leena walks fifty steps towards the rising sun. Then she turns left and walks

another fifty steps. Here she turns around and walks a hundred steps. Which

direction is Leena facing now ?
(A) East (B) North
(C) West (D) South

121.

A6N3M4N7H3N4N2K7A2D5F6
*RYFNGTS A ARCICAN N TR (91T (2R :

A) 22 B) 24

(C) 26 (D) 20
W]
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121. T TGS

A6N3M4NTH3N4N2K7A2D5F6

SRR o SRCPA NI folefd 9 ;

A) 22 B) 24

(© 26 D) 20
12.A6N3M4N7H3N4N2K7A2D 5 F 6 ®iEm y@A= & S0 foamfq

gTaTEE! fogd ?

A) 22 B) 24

(C) 26 D) 20
121. 3@l

A6N3M4N7H3N4N2K7A2D5F6

o geft T TR BT AT R R ?

(A) 22 (B) 24

(C) 26 (D) 20
121. In the series

A6N3M4N7H3N4N2K7A2D5F6

the sum of all the even digits is

4) 22 (B) 24
(C) 26 (D) 20
122. 80, 10, 70, 15, 60, ........ XIS 2 IR ST 751 R4y 2
(A) 20, 50 (B) 25, 45
(C) 30, 90 (D) 50, 20

122. N6 (787 FAMHCS 778! 7247 71 2 -

80, 10, 70, 15, 60, ........

A) 20,50 (B) 25, 45
(€) 30,90 D) 50, 20
=
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122.

122.

122.

80, 10, 70, 15, 60, ........ BTSSR A HAA SHSTHIET AT ?
(A) 20,50 (B) 25, 45

(C) 30,90 (D) 50, 20

& TS el | ST < TR E -

80, 10, 70, 15, 60, ........

(A) 20,50 (B) 25,45

(C) 30,90 (D) 50, 20

The next two numbers in the given series

80, 10, 70, 15, 60, ........

are

(A) 20, 50 (B) 25, 45
(C) 30, 90 (D) 50, 20
123. I% L. MOAT 3 ¢1ce 77™1fF®, R SOAP 3 BIte 7IiFe 27, (or8 el F s5wiiee

123.

123.

123.

@1 *HCHT TRl

(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
T L MOAT 93 % 7{fF®, R 7ifFe SOAP @7 A%, O €S F 7TFS
(A) GOAT (B) GREEN
(€) GOWN (D) GROAN

Sf¢ L 31 MOAT i @eamTHI, R 3 SOAP S SAleawTHI, 3Teet F 37 T@He et
ASE 7

(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
gfe L, MOAT @ geiftid 2, R, SOAP @ gaiftra 2, ol F 36! TepR & Hafid 2 :
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

W]
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123. If L is related to MOAT, R is related to SOAP, then F is similarly related to
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

124. CUP : LIP :: BIRD : ?

STRRRC! TP Al Q71 B 2«1 KFEh! (2R :
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

124. & [RFAD G2 TCFR A0 FACAE SICeT! T

CUP : LIP :: BIRD : ?

(A) GRASS (B) FOREST

(C) BEAK (D) BUSH
124. 99 98 GRRGEIST 931%E arefeq amera fefm ?

EL IR (T A

(A) T (B)

(C) e&l Yy (D) SER
124. 4 @1 ey Feiftra 3 fore wed v & -

%9 : 8o uafl 1 ?

(A) =™ (B) &

(©) == (D) e

124. Which one of the options best fits the relationship
CUP: LIP :: BIRD :?

(A) GRASS (B) FOREST
(C) BEAK (D) BUSH
[®::[w]
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125.

125.

125.

125.

125.

JAR TFHRCG! [BIE RfeT 512 27 TR T8 RKpeieh! foere 1 -
QEA’G : NS WAR B

INIRPRICEEY ®) ©h2

©) s (D) caiozw
el ot <SR Ty o e e s fofers <
R« ST o (FETS® Oo™

(A) s B) B.0.2

©) % (D) Z5e
AERE ARRAT S5fgs A arrg RSt il YTAHRE! 371§ WTem ?
IE : AGMCST @O AWl W &I :

(A) "o (B) fa.faz

() fefpa (D) wiTwH

HEY Giol 3R TaY 370 foshed 31 T8aH i 3R Th T &l W —
RGN A WA RIH

(A) T (B) aA%

©) feme (D) wiewH

Find the relationship and identify the best option to fill up the gap :
Airport : Runway :: Railway Station:

(A) Signals (B) TTE

(C) Tickets (D) Platform

126. 907 : SIS :: (WI2eT : ?
A) @ @R B) 9gG2T
C€) 9= D) TR
[®]::
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126. 1559 : TS = (A2 - 2
(A) T OR (B) =UERT
(C) =P (D) i
126. uay : g cwEge

(A) =WR (B) Ugws

© " (D) Ty,
126. U : foers :: Aemget @ ?

A) @R (B) TgEe

©) = D) ™
126. Laptop : Windows :: Mobile : ?

(A) Play Store (B) Android

(C) Apps (D) Games

127. F50© 451 el BTl (?) &fSRIo FREAE AT @[ A e 541

?41586ITVN
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
127. WG foafbrs em@ys Bz Sikacs @i 713201 7 ©f s 34 |

?4158617V‘N
6 5 9

A) 57 (B) 51
(C) 58 (D) 63
W]
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127.

127.

127.

AR B @ SrgrA MR EwE ST 7! iR ?

?4158617/‘N
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
3T | e g ol 9¢e o foTg 7 <l 98=H i |

?4158617VN
6 5 9

A) 57 (B) 51
(C) 58 (D) 63

Identify the value to replace the question mark (?) in the figures :

?4158617/‘N
6 5 9

A) 57 (B) 51

(C) 58 D) 63
128. “GTie, Tl 41g”

7 (F20IF IR eifsfeiizg 711 Hacs! biee 41 |

128.

A) O @ (B)
©) : D)

GTI, S, 4G
GIRCE G efefiag T valber biee 799 |

A) O @ (B)
©) : D)

Bl B
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©) D)

128. 958 31 Yfafaftres s a1er 3w w1 fafea ot -
e, fheer, e

@» O @ B)

128. Mark the diagram best representing
Gold, Silver, Metal

(A) O @

129. e HepTes foeqe SEiTe 2 Hac! fbare 4 |
(A) %
©) KYI\ (D)

129. SE F SieTvl 91 fog Baftes Bfee o9 |

A) %
(€) rvI\
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129. TEARRIHR JTEeT HETE! ST |

A) % (B)
(©) KVI\ (D)

129. THU & 3T SATH(d hl T8=H B —

@) g ®)
©) rva D)

129. Identify the figure different from others.

(A) % (B)
(©) rvI\ D)

OE WWE Wi

130. weTo iyl foepTes &9¥ 75! =19 TP ¢ ifes safzios e Wi | ¢ e
SepAfa «?” fomibl effiegret faa o1 el tare -

A
ol
Ol

A) O B 7\

©) o O

2
(=
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130. FGE BaBTEITS, 212 U6l AR G0 +FREE WO I | G127/ SRR epaies bz
(?) “RR_CE 2@ :

X

7

)

O

=

<&

<

—
?

A) O

(C)

B) 7\

D) O

130. TrerTiETe fife g FTieeTT 799 99 SIERT | 9 99 9d 7 1 et /1 S 2

X

7

N\

O

=

<&

<

(A) <>

(C) -/

B) 7\

(D) O

130. = feu mu fo= #, vgelt g utwat e fam w1 gwidt € | fem % e, <7 % fom
i 8 —

X

75

)

O

=

<

<

-1¢

A) O

(C)
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130. In the figure below, the first two rows indicate a rule. According to the rule,

the replacement for “?” is

AT
ol
Ol

A) O B 7N

©) o O

131. & HepTyRs I TR A A SIS FSE| 2, (S0P DR S 23 :

OROJsRl=)

(A) 1423 (B) 2134
(C) 4123 (D) 2143
131. I

OROJsRI=)y

GBI RIS YR AT 2 O F6 20

(A) 1423 (B) 2134
(C) 4123 (D) 2143
W]
SLRC-2022/P-II/A 88 Eﬁ



131. 9fe

OROJsRl=)

Hrermiw @ fora et sFfm Sige ™ s1fed T SR, 3161 %I Sesi

BIRATIA! BT ?

(A) 1423 (B) 2134

(C) 4123 (D) 2143
131. 3fg 3Tfhg

OROuthl=)

I ITh! el g5 Y3 § SHafera feram ST B, Y 5hH BT —

(A) 1423 (B) 2134
(C) 4123 (D) 2143

131. If the figures

OROJsRI=)y

are arranged in their increasing number of sides, then the sequence would be

(A) 1423 (B) 2134
(C) 4123 (D) 2143
W]
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132. oae (e sal i 7S G2 o= 415 2© @Sl e @@ AT I $iw 391 =,
(O0® (T4 2R (R0 ¢l A9 2

@ ®)

© (D)

132, T4 F0R GG PG (oG GG Tl

99 S @ @41 S ©ie 91 21 O (I &S0 SPTed 2

@ ®)

© (D)

132Wmemmmwmﬁmm@ﬁmﬁﬁm
STTRIfe, et ST ?

@) B)

(©) (D)
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132. fe@m mu e % ar s uresft e i fodier T o a1y aied e 6 ofy foars ol ?

@ ®)

(©) (D)

132. Which image would appear when a transparent sheet with the pattern as

shown

1s folded along the dotted line ?

@ ®)

(©) (D)

133. & 30 H@PTea (FI0G! AT GFa® B2 SR AICHiw - efoRg 5157 e ?

S e
o gp » P
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133. & 7 @reil & S9Ea woia afsfg o3 2

CIF e 9P
o gp o P

133. BRI ¢ SR MEERH R ™ arami 97 ?

CIE e 9P
o gp o P

133. 3TTh{d i § T I T1 Teh g8 T 4T fdfeia Tei 2 7
R
o 9 o o

133. Which one of the figure pairs is NOT the mirror image of each other ?

CIF e 9P
o gp o P

134. 2 HaGrs (20! fage ETHI2 =R ?

A) 13 B) 5
© 7 (D) 10
[®::[w]
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134.

134.

134.

134.

foabre @it 6 fqgs @it ?

A 13 B) 5
© 7 (D) 10
IR Ay ARETRIH € ?

A) 13 B) 5
© 7 (D) 10
3TThfa o fehaH Faysi 8 7

A) 13 B) 5
© 7 D) 10

How many triangles are there in the figure ?

(A) 13 B) 5
€ 7 (D) 10
135. 95! Tg%fba 7ot 770 firdit 2z |

23re fofeibl g 2l PHTHE 5 feide e 25! kg wiicz 2

A) = B) 72
(©) i D) <
W]
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135. G2 =CAF 76 (BRIAT (1S 20

femfS K et we1fb Reids stet 26 fg =i 2

@A) = (B) 72

(C) =i D) <
135. TH STZAMAT T TEL3T &

T =gl M1 FiET 3ot oM/ grEistE aed fo=i g ¢

A = (B) =

(G = D) #
135. Teh € g & g1 &9 few MU F

i feigatt oot g o fowdia g W fopaa fog § 2

A = B) @

(C) i (D)
135. The two appearances of the same Die are given

How many dots are there on the face opposite to the face with three dots ?

(A)  Six (B) Two

(C) Five (D) One
[®::[w]
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